%&ﬂﬂﬁaﬂ%@ﬂ%ﬁ%ﬂﬂ%
9 B9 TR W § o ) ¥ @ Hia SEd eTEe
1 R FA ) AR wha 3 g e S faegd
Hrg B 6

(b) Translate the following passage into Hindi :

The world is full of people who live for themselves. Most

of us care for our own needs and ambitions. At the most

we live for our children and friends. But of what use is

our prosperity to others ? We should never estimate our

success from the wealth we have collected, but from what

we have done for the good of others. 6
OR

(For Foreign students/Non-Hindi speaking students)
Write a paragraph of about 300 words on any one of the given
topics :

(i) Handicaps Should be Accepted in Society.
(il Time and Tide Wait for None.
(iii) Character Is Destiny. 12

1591/36,200/KD/568 4
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1591

GSM/M-16

ENGLISH
(For Regular Students Only)

[Maximum Marks : 80

Note : Attempt all questions.

1.

Explain with reference to the context

But [ am a man, [ am still alive. Warm, red blood is tingling
in my veins, the blood of noble ancestors. I am an aristocrat,
Nikitushka; I served in the army, in the artillery, before I feil
as low as this, and what a fine young chap I was !

OR

Let me put it this way. We live today in one world. We are all
human, even the communists. Yet we are all divided and
unhappy. What is the chief cause of division and unhappiness ?
Thinking. If we discourage thought, we shall decrease
unhappiness. ’ g

(a) Answer any six of the following questions in a word/
phrase/sentence :

(i) Who is the envoy ?
(i) What was Nikita Ivanitch's occupation ?
(The Swan Song)
(iii) What kind of a play is “The Sleepwalkers’ ?
(iv) Why are the Indian guests wearing masks ?
(The Sleepwalkers)
(v) What is Herbert's attitude to Morris's stories ?
(The Monkey's Paw)

1591/36,200/KD/568 (P.T.O.



3.

(b)

(vi) What does Mrs. Rowland find in her husband's vest

pocket ? (Before Breakfast)
(vii) Why did the fakir put a spell in the paw ?
(The Monkey's Paw)

(viii))What did Morris get for losing his arm ?
(The Monkey's Paw)
(1x6=6)
Answer any two of the following questions in about 100
words each :
(i) Comment on the use of dramatic irony in ‘The Swan
Song’.
(ii) Describe the atmosphere and setting of the play ‘The
Monkey's Paw’.
(i11) How is the play ‘The Sleepwalkers’ ‘a hilarious,
rollicking farce’ ? (6+6)

Answer the following in about 300 words :

Discuss the appropriateness of the title of the play “The Envoy’.

OR

How far has Eugene O’ Neill in ‘Before Breakfast’ succeeded
in delineating the tensions in a marriage though the monologue
of Mrs. Rowland ? 12

(a)

The Daily Newspaper is looking for fresh graduates with

good language skills to be appointed as Sub-editors at

its Chandigarh office. Prepare a resume that suits this

job profile, and write a covering letter for this resume.
OR

You are Rahul. Send an e-mail to the Editor of a
newspaper, criticizing the growing use of unfair means
in examinations. 15

1591/36,200/KD/568 2
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(b)

(c)

(a)

Give phonemic transcription with the primary stress on
any ten of the following :

Demons, Tortoise, Conduct, Aristocrat, Profane,
Wholesome, Governor, Considerate, Savage, Divorce,
Folks, Capture, Gratitude, Journalist, Squeezed. 10

OR
(For Blind Students Only)
(i) Give synonyms of any five of the following words :

Query, Whisper, Rage, Genius, Influence, Anger,
Awful, Permission.

(i) Give antonyms of any five of the following words :

Offend, Crafty, Immeasurable, Honest, Vague,
Bold, Ruffled, Specialise. (5+5)

Attempt any five of the following, selecting at least one
from each part :

(i) Use the following words/phrases in sentences of
your own :

Cope with, Sail in the same boat, To keep a cool
head.

(ii) Give synonyms of the following :

Grasp, Persistently.
(iii) Give antonyms of the following :

Charity, Gravely, Neglect. 5
Translate the following passage into English :
e o & T qU& w1 wW OEE ¥ OqE S
F JE B Wie @ F anh ¥ T v w1 oawEe
21 wiie Tt ste ¥ wF mewq wE w #1 fag
=y wl il § oR A8 TF A TR ® wH 2

[P.T.O.



() syfrw F1a ° @I At 7 # yum wfa w1 AW
AT

(F) =t F1 wun 'Y 9% FEEl H1 A 6T

(F) ‘T | A wEr B wwF FE 0

(3) e f@adt & fas sug %1 9w =R

(F) 5= =1 7o TeE R oA S 22

(7) Frdrafiree QEES F GETE w87

(F) YRE-TF faarem W Afa S99 W 9| F 27
(1x10=10)

1594/32,400/KD/203 4
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fet (aafram)
Paper-11

Time : Three Hours] [Maximum Marks : 80

1. Trefafigs § @ f5= 2 = quEn =aem &g .

(%) Tef ¥ shEr fea- T wrwfEs wo W@
T g TE I B N www, 4 W w8
T # i =SR-TE €, T T 5 w8 W o
3 @m AR A @ owed ¥, W0 w0 oR e g
Heee § W IR W W W@ g ¥ et
A @ ® W TEE TR W

(@) ¥ g, T OF faem orifeew, sHdfiE, |,
THaq—aE ot u% T AT F TN F§ W F, W
TF MU A 3R onfew g fre-fea § @ 3w
TRiR-qea e oaar g1, 9 €, S A @ Se
waq HIEE A9 W g, @R gEeq fasi = A
FEa ¢ (Frm@?) fF B o7 sifg STy #1 o
391 79 F faan 2. 4 R w9, 9 g AT e T

() WR T SR F AW o, “uss, wa S OGA, I
M FA G ® ! T W IEA TN 3 IS
T TR AR W, TS S, T 7 9w, die
¥ TR Yo WmEE, ¥ FEd € % IEs % 9w
Tad, & o gt =@t W oAl ® R
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2

3.

4,

() TEelt TEETE ® TU oY W oW i avEl & Tl
SFUFR | Vv T IER § | T o U UE e
s frm § foad o2 @ oo o 1 @ form s
T wEE TE-wEEl # o9 o TE I et
el # i wudl Y M TR WU H I TR 4
TgEel AR IEY T4 T9E UK WY @ Ul (5+5=10)

AHyET aedifE =1 wfsfos wfima dfsw)
AT
‘e’ FEH F IEI W WEW ST g

frafafen % § gl o) 9 & dfye swm ey .

(%) TYfeem & =i #1 w@ favivad s

(@) ' FEd W g gaen a2

(M) ‘Horh w1 e S wEr S ao-delt ® g
g

(%) ‘39’ wErt * viUs @ TfEd W TERT S|

(T) “dgfe wert w1 faRfedh A R, SR ‘Hwe
FEET B MR R WL HL

(9) fog Fifdu ‘vt S 2@ @' <foa wiwor &6
w3 (4+4+4+4=16)

fdl S v w e e

() SMYfp T 1 TS, T, oTifds 1@ afefoes
qfifeafaal =1 Ieor@ Fiaul

1594/32,400/KD/203 2

5.

6,

7.

(@) f5t wert % 3g99 v faem w1 wiaw afe=m
i)
(M &= s afew = fawm-am w1 faaem S

(%) YRR T % P w1 dfye 9 df
(8+8=16)

i 21w ® IW T 150 TR H AN

(F) YE=-yd ITEE W F Sfww wiEa e
(W) TR e | 7Y o fafaw

() TR B Sy ey @ Eive o fife)

(%) fe=t Fra=dt = wgm dfed = afee e
(5+5=10)

g 4 @ &Rl @ Wl & SW e
(%) wftwfos vmaet &1 31 U8 WEy W i
(@) Tt Tsraet #t FE favwast | whm sl

(1) Tftnfys s ® faim o ofea fafay aormE?
1 fag=a =mifsm

(%) ftenfys TR % HeW W WRE Syl
(5+5=10)

frefafen TS T B IW AR ;

(%) ‘I FEN F TEeN g AW F B2
(@) 'Pue’ FEA B oEF IH E?

(M) TYFFE T F ARA F9 T A A 82

1594/32,400/KD/203 3 [P.T.O.



8. Trafafan & ¥ 3t wif & oy s e .
(%) s fir Sueam ‘eftedv’ w1 afsfas ofm dfm
(Q@) BEER ®1 & T@ Wil ®1 gue Hif)
(m ‘vt wfam’ #1 gt ofme S
(W) FfaaR TFeFE w1 dfva wfefas giem dfaw)
(4+4=8)

9. Tr=fafan aft gfs woi + Im S :
(%) ‘ggm i’ wes fEg s o dwa R
(@) g1 FT TS F FA AR 417
(M ‘T’ Ty vEF B 82
(o) ‘It % o #n % Aw e 31 fewd @
(¥) 9RR qUifes F1 9 F9 gl o7
(F) yaTArEn 5y fFe gn % ofreren €2
(®) ‘g’ frw g w1 = R0
(®) 'fe=’ =+ uw =W F1 AW fHfaw) (1x8=8)

1595/900/KD/204 4
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GSM/M-16 1595
HINDI
(Elective)

Time : Three Hours]
M . Tt A ® S A

1, To= 9 ugaEl S 9y S Hi
(®) Tafq Fafem, fam a3 faewga
3g A awm, 'Y afed wfoE w6
= T WA 9 o, e " fam
= fRp-qE 99 §, 98 T IeEmil
(|) fag % 9ma =R fafka 5@ Ty,
o wE E w1 g @ e ¥

[Maximum Marks : 80

Y2 T 9IEN FE g9 A AR,
A UR A g A ity )
(M & ded wE €, T Tl |@iE|
T 7= #8 9 9l 1 S
FE TREE FH H, q€ off ®F fiem
F@ GEmE srad, g gEm el
(M) FE 9 T AR &, TN W W W
offear afa 99 =, IE W TR
w@d 99 Ft 3K °, 99 TF FEE
TET T W T W, FE IFH W IA
FTUT A 9feq, = o FEEr)
wifa o & dfed ==y ¥R, =W <t w0 dRu
(6+6=12)

1595/900/KD/204 [P.T.O.



2,

3.

4,

g™ 1 Sifefas ofeg i
e
fag FifY &% “yemn =@’ & 99a @res™ ¢ 7

gl oo ol % IW 200 =R A G

(%) ‘ggmn 9@’ &1 gfou déw o fafam)

(®) ‘'ggm 9’ wvesm & gag-dem fAfan

(M) ‘gEmn afa’ ¥ wfwm @ wfea gan 21 frg R

(3) ‘gEmn Sfw’ # freaaria Sfew F @i 5qga s
21 e =Y (4+4=8)

(F)oT9% a6 9% e ¥ @ ¥ f o9 9% w9 o
T, T W (SqEe) o s wm A gg € o
% T WS @1 gE A% fe we-9 wfy wud
TE W F TB-TE g GERfEEl W OEER T
‘B’ @ B W 4@ 9 WE €W @ ¥H U T,
g IR BFA 99 TS B} I 8

(@) By 9 TfaeR @ wften €, SRR 9S4 | TE @R
T FfaER w1 ff WY W ST g w1 A
T R S T T % WY IR g, wul oyon

(M “"ra TR A 2 F w=m fE R, 1 % IW &R
oiEF F1 qud W IS F TWE I9H 92 3R
T F=R W@ ¥ 9 € e fE 9w @
W A, UMY 7 3IG& YT W faw # uwen 51 W

1595/900/KD/204 2

5,

6.

7.

F FEvEHG 9 ¢, fg SR s @ R W W
faoy wra €0 N
(%) @S- & g% ° §{g-T-7P AU9Ea A e
FH-IrE A ?, g o W ud g Wiy W
T FEN R ¥ wel T 2 R AU o A
e W T F THEW B Bl H TR d® W 9@
g fF 9 ufved-avecdt 3@ WA W T T R
(6+6=12)

M THES YF A¥9aT s S F1 aifefers o=y
s 7

=l I wEh we ® I 200 v N FfAw
(%) 'wifgm H1 v’ Fay w1 9r fafau
(@) TR Uifes # fey el | g sifag
(M ‘Tfem iR e’ frey % SR W agem S
H 9m-dielt T feueft fafem
() 3R F O F WEE ¥ UF AT F Ioord
(4+4=8)

Proffefaa § @ frdl St T @ oTeieETEE S AT ;
(%) smyfs w1+ wifeafast fafau
(@) fgadigf =fom +1 ygfwal fafaw
(M) TEmER & yafet & avile Fifsw)

() FFFEE Hfam F=1 o iR wew fuiflm it
(5+5=10)

1595/900/KD/204 3 [P.T.O.
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Gy feags
(- g9a 1597
(i) HaI
Gv) eaore GSM/M-16
PUNJABI (ELECTIVE)
(3 R Aed o 2 Wz B fam & IEm
feg @ 7 Time : Three Hours] [Maximum Marks : 80
iy <dEIUd
(i) IAA 3¢ : HJ YAG I3 wgdl I!
(i) HIHE HT
(v) ThR "I (1x10=10) 1. ofm Ao W @ ¢ dies w3 ARE o QU 32
fa 5
2. Iz fou afe Sfeni fod @ <t yiar nfaz fenrfimr a3 -
©) foor meg fomrs »Emst der
udt v dt ga I &ft dhr
%w&%%mdm_w%?@_
oiter WA dw o g wfear | e
(M) BT g T Y I AF A
geT Ifewr & 3T 3 A e
Taht feg dgs o mgz Ifomm
S wfsQ =g dfta e
ofan 85 @ &7 ° 39 fam 3
&g e ¥ wagr Ul
1597/3,500/KD/201 6
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€ weAT & a3 I 35 9 5. Jo fad wdaet fo¥ @ & Ul w3 deT Qe

e feat ;i @ ahw B3 A fod
W 3t g 3t & SfsE A Mwwﬁm
%@u&i%%&w@w_ €) wadad
RIS GE A S -] |  Baad 10
waft =t/ far @ iz B&)
(A TaH ®e ofi3r BHET »mud &I 6. J5 88 T (303 waw) wEt a mew few o
3N B wERd o dust € ==z four o= wiozarg)
fur Wad geq wafe @3 () Tg W fegw dfuz =@

fiemsat 3 vadt Sudt s (®) fm e & we =t we Tt R
s oyt feg game fmm ) fm 4T v forg o I 2
garft 99 gAd I St (5x2=10) (0) dadhrt w3 33 wICT T
@ fmoa €3 e | 7 73 T
@ dfrt = g3

3. 1701 3 1850 € 37 ¢ I® met wigs €l waur w31

" (@) FIF U e HEal
. . o e (W) A3 T Wy 3 watow wE T 38T
1701 F 1850 =t g e fafimt Slm *
3 o . (5) fat Ot S frw oW & w9 TE 10
gdar adi 15
7. 35 fog Weedt mEer fed 10 wuet w et wigew
4. Iz fer fefm feg B3 QT 500 mavr 39 fra fsdu T -
foa (1) Meter (i) Mysticism  (jii) Note
(@) »mar fefonrgdt w3 mm (iv) Opera (v) Paradox (vi) Suffix
(w) TwaH W3 wEF TOH I (vii) Realism (viii) Satire (ix) Style
() = ot = o B WWE Wﬂ”mma M@v Mnm&ﬂ_mos szw Mwﬂ.mn
1 X1V owe XV 1510n
(M) @ w3 G5 € 3gT I 10 10
1597/3,500/KD/201 3 [PTO.
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8. Jo fsb <n3fors ymat @ 3l9 €37 3T ¥ =9 -

®)

()

®)

@Y € "eH a2 dfewr ?

G 1670

(i) 1680

(iii) 1780

Gv) 1790

it »mE w8F feg fam & Hous Fger 3 °
0 93

(i) TERT &

(i) fizg §

iv) far & & =t

Ay 3 yffg i a® & famr fag = 3 7
iy eded

G =fom

(iii) HITS

(iv) I\EH

Y95 393 famr fan & fefimr afowr 3 7
(G TEH

(i) WIEB

(i) dEIWY

(v) wfowe dwa

1697/3,500/KD/201 4

)

@)

)

(@

HaEHT w3 edefr e woe9 mee fam mEt
gz famr 3 ?

() Jfs

(iiy »hERT ¢8 B

(i) wFg fw

(iv) Bfsos iy

T W & gus fagft 9 7

@ 0§

(i) HIEHT

(i) dF5 =T

(iv) W5 3|3

TAH AT far = € mA dfewr 7
(i T3 fiw

() =g fu

(i) wI

(iv) uma fiw

T3 T3 IE T BT dF T 7
() I

i) IEH wT

(i) TS AY

(iv) WIHE wJ

1597/3,500/KD/201 5 [PT.O.
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SANSKRIT
(Compulsory)

Time : Three Hoursj [Maximum Marks : 80

W o wd wvs witEn §

Tnfafgs W Wl % I Afng .
() ARy W fEEOE F R T 82
(T =TERE F W W WY N TE 2
(M) AFAHAT WEN FH OSU H IooAT . I EW FREE
cAy CeeREd’ o g faem sfE E2
T v W o 9 wgE T R
(1) g MG W T UK. WM PR, TEadd o foem w1
et
(%) g5 wAE & R fafaw
(%) ‘=aFEwfn’ § wH-m ghe g2 (8x2=16)
2. (=) Preafafar 5=l @1 voiet @ g fafao .
. i) foemers e we |
mﬂmﬂﬂﬁaﬂﬁﬂa@
- gy difzwr a1 ey
| s fafmA W L= A1%

L LS9R/T00KD205 ‘. . . IpTO



Gin R HarEiE s ¥ EEIRIEITH
A T amy freamr wfemn
Git) g fEr Aeiees
a1 o« feear fafd wg =
T 1H gArAEeE: -
yHffaras Tfm sfE:
(iv) FWAR @ T 9w wafEmtean
Trnell drowaaeaHa AUl (2x5=10)
(@) frafafma 1 uw gfEm =) T sren s

(iy Af=e fa=n e w0 wHgE wfaerdE
(i) TRmfafa fo wifEa 5qe 6

3, (%) '9nmgE F gam iF w1 "R fafaw

AT
ST @ s W OV TR U IEE TINsl @
oftgg difew 8
(3) wo=E v fages @ =fm-fasu it 8

. (%) feafefae # 4 fF=t S yiged & o awn A foe

wv fofgu .

™, V', T, 94! {(2x4=8)
(w) frefafaa 4 7 fot 2t ugelt @ o oo & 997

w9 @L_u@.m"

w, fag, @, F (2%4=:8)

1598/700/K1/205 . 2

5. v Eofafaa 8 A ww oW faww w2 g W ow AW

R

HERT:, SRREY) : _ (4x2=8)

(77 Frefafas 9 B 3 e W A wEd ¥ AR

Hifa

4y o T TE

(i) &0 wa foerrr @em
Giiy = H W gEd )

(v) F8 i@ # s

(v) T 3 TEE TEd €
(vi) A F "W o 9a €
(vii) T # el firam 31
(viii) W@ I ® S e #
(ix) T g9 a1 anan B

(x) ®A A Fa °?

(xi) T 3 TEW & 9

(xii) T T W WY TA?
(xiii) o¥1 W @ T@ ¥
(xiv)eTra foraneg | Sowg Em (8x1=8)

1598/700/K1/205 3



(@) FF= =\ &1 9557 ¥ IER Fifaw . Roll No. ..o, Total Pages : 4

() &\ TH A #) GSM/A-16 1599
(i) 3T& ¥R WA HU SANSKRIT

Gii) < B W T w0 (Elective)

(iv) TRem = &1 9waa #Eh? Time : Three Hours] [Maximum Marks : 80
(v) & F THER B S S S SN G S

(vi) fagm #1 Wl o w2 (%) ‘THAT’ T ® TEAER F AW o

(vii) %1 99 dSe =g (@) T feelis &9 92 399 9@ =1 m fod

(viif) forelt  q91 B 21 (4x2=8) () SfEFET FW B A w1 AW fara

(%) frerefaem & v § fva TR w1 g &2
(¥) ¥5pa ¥ fFa 7R % a=1 o) €7 9w o AW
fefan)
(F) WEar=a fH wea €2 9 faeivan wawry)
(B) 7 3R afga vod § w0 awm 27
() Tt fgwrdes ug =1 wF g § w@m Fifw
(8x2=16)
2. (F)'E F amR W R velw # wwew
=En HifT
(i) oA IFO AR IEisEEEta i)
T AT YRE wEETe fg o ugh)
(i) wemTR Tt fam g@EfE
THfger weegis:

1599/3,900/KD/206 4 1599/3,900/KD/206 (P.T.O.



FH 7 goES Fay
e a9 sl TEEE
(iii) 3 o0 uRFa: gondf wH wiesn weArgE:|
Jw sarenent = e Sergrifaasn
(5x2=10)

(|) ‘vEw] % f5fe i = anw fafan)

Y

‘vEv % 5w @ o® smum m T R W
FfE-fasm =i (1x6=6)

3. (F)dfEwrTgem fafea feusfasg + smur w fa=t

T F OWEET SRS FIF0 ;

(i) TN WM ANETEHUSeRa, Thadl @at-awd,
FISTAAGUSENST:, ITH FATUIUOSY, A
EH I, TFiaaes: AF-Ame, Jgea!
Va3, YIUR: Y99aer, 979 e

(i) 19 A WA TEefea feaf enefugs,
GG FEG, AT TN T AferwrEn: THEol-
Iem) 7a: “fefafa? wa sfa? Samfa? sufefa?”
TERIEY AN FEaRieo Afaw Sty
EHEZATETS wiagq)

(iti) TR Tt ARRE! AErEaL: afea wEf:
wF: gl frssfy @ w2 u unhegiEaeti

1599/3,900/KD/206

sty 7 afq wot-uro-Tm: e med

e § qoraft yomf waf = § sfag e
tf, st @mm T T Sfvvr o, o W

Tved 3, favaafa v v R freusaa
TR AR | (5x2=10)

(@) ‘Rrarafyea’ & ufsaen ® FMR W OAEE W
afa-fasm wifsm)
A

Fraafasa Ft argge w41 F1 §R fafag)
(1x6=6)

4, (F) FETA JGAT FHAE H G0 faeeq wmifaw)

(1x5=5)

(@) f&t uiw o afga werg @y
T+ WYY, oMY + 3, WER + IF, SH + qq,
T+ F, fRwm + 3, wfm o+ T (1x5=5)
() frafafaa o f&dl ®: o frg 9 99 % o :
Vi + forg, Vag + e, VF o+ P, VR o+ T,

Vg + W, g« T, VY + 1, VW o+ T
(1x6=06)

5. (%) 5 2 g3 w1 g fagsn s

T g, 9 gferad: ofem, o, 5&.&&4_"_
(2x4=8)

1599/3,900/KD/206 3 {P.T.O.
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GSM/M-16 1603

HISTORY
(Indian National Movement)
Opt. (i1}
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four more questions selecting one question from
each unit. All questions carry equal marks. The part relating
to explanatory note will carry full marks for visually
handicapped candidates only.

e - mﬁ&ﬂﬁ&%mﬂﬁﬂeaﬁqﬁ;%w.%
o7 YT I TS TEE ¥ 4 U W gl e
oot Y B F GO ¥ Faa TEw e @ w
fE Feed ol o WM W R W R S &
Eieuf

Compulsory Question ( fHand Wy )

1. Choose the correct answers from the multiple choice questions.
Each question carries 2 marks. (8x2=16)

m@@%ﬁ&@ﬂ%%mﬂ_ﬁ%ﬂnﬁw 3TF F
21
(a) ‘Anandmath’ was written by

(i) Rabindra Nath Tagore

(ii) Munshi Prem Chand

(ii1) Igbal

(iv) Bankim Chandra Chatterjee.

1603/16,000/KD/208/Map of India. [P.T.O.



WA W g WA YOS W SRR g o
(i) 1919 ®
(i) 1921 H
(i) 1935
(iv) 1947 HI
(g) Muslim League was founded in
(i) Lahore
(ii)) Dhaka
(iii) Delhi
(iv} Aligarh.
g™ o #T T g et
(i) omR =
(i) e |
(iii) feeedt
(iv) ereftme H|
(h) The slogan of ‘Dilli Chalo’ was given by
(i) Sardar Patel
(ii) Lala Lajpat Rai
(1iii) Subhash Chandra Bose

(iv) Jawahar Lal Nehru.
1603/16,000/KD/208 4

‘feecdt ==’ &1 AW fEmoen
(i) WER e d

(i) &en oeea T A
(iii) gumeE=s o9 A

(iv) SEREe TEE A

(i) Who was the first Governor General of Independent
India ?

(i) Lord Atelli
(i) Rajgopalachari
(iii) Jawahar Lal Nehru

{iv) Mountbatten,

HER NG F Ygel TR TRA FH 912
() @ e

(i) TePTrITETER

(iii) AR TEE

(iv) AHeae

UNIT-I (§a3-1)

2.  What were the causes and circumstances which led to the birth

of Indian National Congress in 1885 ? 16

7 wE-M ifeafml qw wRu 9 e TRomTeErEy
1885 €. ° 3fvem TEw wEE w1 G A7

1603/16,000/KD/208 5 fP.T.O.



3.

Describe the ideology, method and main activities of the
Assertive Nationalist. 16

ﬂ%%ﬁ%%g%m@%
1 faawr Sy

UNIT-II ( 31E-11)

Give a brief account of Civil Disobedience Movement of 1930-
34. What was its significance ? 12,4

_ouo-ﬁ%ﬁwﬂgﬁiﬂﬁﬁm_ﬂﬂj%_
o "ew ot SaRul

Write an essay on the activities of the Revolutionaries in India.
16

ﬁﬁmﬁﬂ%ﬁ%ﬁﬂﬂﬁm%_
UNIT-III ( 3&E-111)

Describe the causes of the birth of Muslim Communalism
OR Muslim League in India. 16

ﬁﬁmmﬁﬁ%gm@n%%ﬂ%
FROT w1 FUR iU

Evaluate the contribution of Netaji Subhash Chandra Bose

and Indian National Army to the cause of Indian Independence.
16

B e kA o L e S I
fo T ® AEA F EAEA HI

1603/16,000/K1/208 6

8.

UNIT-IV (ZFE-IV)

On the outline map of India, show the places of important

sessions of Indian National Congress. Also write an
explanatory note. 10,6

TR F @A W3 wee wiw $ wewe
i el 1 <) U SAEEmEs o s fafaw

On the outline map of India, show the areas and centres of

Quit India Movement. Aiso write an explanatory note. 10,6

W F -HRTS ARG B A=A ® a4 T B
I TWEY TF e oot o fafau

1603/16,000/KD/208 7



(vii)) =7 = R S w1 R’ we wAfie few mn
e?
(31) 1946 H
(F) 1949 H
(|) 1956 H
(%) 1961 Hi

1604/15,900/KD/209 6

ROIl NO. oot Total Pages : 6

GSM/M-16 1604

POLITICAL SCIENCE
(Western Political Thinkers—1D
Opt. (i)

Time : Three Hours} [Maximum Marks : 80

Note : Atternpt anv five questions. All questions carry equal marks.
&d“@%&ﬂﬁ&%mﬂ&ﬂeﬂ&nﬁﬂ.ﬁﬂﬁm%

1. Discuss Hegel's Theory of Dialectics. 16

e @ g U T EEEE e s
2. “History is a record of Class struggle.” (Marx) Discuss it.
16
“efirerg g 1 Aferd &1 (HTR) Fera=r wiferul

3. Examine the changes introduced by Lenin in the doctrines of
Marx. 16

Sfm T TS % faai § fRT T S = oavE
4. Discuss the major political ideas of Mao-Tse-Tung. 16

ﬂﬁlﬂ-@%m@dﬂaﬂﬂm&ﬁmﬂﬂ_

5. Discuss the contribution of G.D.H. Cole to Political Thought.
16

%ﬂﬂuﬂ%ﬂ.ﬁ.&m%ﬁﬁmﬁﬂ_

1604/15,900/KI/209 [P.T.O.



Examine Laski's views on State and Sovereignty. 16

i%dﬂﬁéﬂﬂﬁ&wﬂﬁmﬁﬂﬂ_

Critically discuss John Rawl's Theory of Distributive Justice.
16

%ﬂ%%@mﬁ:ﬂﬂ%%?ﬁmﬁﬁ%ﬂﬂﬁ?
Fi

Discuss the Entitlement theory of Justice. 16

ﬂﬁ%%ﬁmﬂ@ﬂaﬁﬂrﬂq

Objective Multiple Choice Questions (Select the correct
answer) :

(i) Who said, 'State is omnipotent' ?
(a) Hegel
(b) T.H. Green
(¢) Laski
(d) Demock.
(i) Who is the writer of Poverty of Philosophy' ?
(a) Lenin
(b) Karl Marx
(¢) Mao
{(d) Hobbes.
(iii) Who lead the ‘Russian Revolution' ?
{a) Hegel
(b) Karl Marx
{¢) T.H. Green
(d) Lenin.

1604/15,900/KD/209 2

(iv) Who gave the 'Guild Socialism' ?
(a) G.D.H. Cole
(b) John Rawls
{c) Laski
(d) Ogg.

(v) Who said “Since society is federal, authority must be
federal also” ?

(@) Frank Podmore
(b) Laski
(c) Bluntschli
(d) Marx.
(vi} When was the book, ‘A Theory of Justice' published ?
(a) In 1965
(b) In 1967
(¢) In 1971
(d) 1In 1975,

(vii) When was the book of '‘Anarchy, State and
Utopia' published 2

(@) In1974
{b) In 1977
(¢} In 1980
(d) In 1984,

1604/15,900/KD/209 3 [P.T.O.



(viii) When was the China declared, 'People's Republic of
China' ?

(a) In 1946
(b) In 1949
(c) In 1956
(d) In 1961. (2x8=16)
TS Wgfawedts v (T IR ) .
(i) 'ToT TEETER ®, qT wem fRus &)
(1) e
(3) Aw 1H =
(|) =Rt F
() feule =
(i) ‘vfadf M frafatal, s & dms &
() of
(9) et Ted
(4) man
(X) =
(iii) &6 wfd 1 g et fem 9m
(30) &
(9) Fet Al
(®) A= 99 3
(%) =fF[

1604/15,900/KD/209 4

(iv) ‘9ot TomER’ w1 faer fee fam oo
(F) AHwm w3 7
() &9 T A
(|) Tt 3
(%) & A
(v) THN ®1 ®9 9% GO 2, IEfAT O @ ®Y
TUeTF B RN 9 R we W
() BF TreER
(9) wrnt J
(9) = A
(2) == |
(vi) ‘T A IffF SR’ Tww w9 g g8 efl?
(37) 1965 |
(9) 1967 ®
(9) 1971 o
(%) 1975 Hi
(vii) 7% ‘T, V2 T R %9 YEINE g of?
(1) 1974 °
() 1977 ®
(J) 1980 H
(%) 1984 #)

1604/15,900/KD/209 5 [P.T.O.



Roll NO. v Total Pages : 5

GSM/M-16 1606

ECONOMICS
(Macro Economics-1I)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory. Select
one question each from any three units and the fourth
question from any unit. All questions carry equal marks.

He . @ U ¥R U WA wem 1 ated e de
T ® UH-UH T AR wier v R o
¥ w4 wf g @ o wAe #)

Compulsory Question ( 3Tfamd we)

1. (a) Which of the following is True or False ?
(i) According to Fisher P is an active element.
(ii) Wage induced inflation is the cause of Demand pull
inflation.
(iii) Regressive tax implies that the rate of tax increases
with the increase in income.

(iv) Trade tends to promote greater International and
Domestic equality.

(b) Choose the correct alternative.
(i} Inflation affects domestic savings
(a) Positively
(b) Negatively
(c) No effect
{d) Both (a) and (b).
1606/7,500/KD/211 [P.T.O.



(@) TE fawer ghm
() TE-THE F W g6 W I9E T P

'4r The First Narasimham Committee Report on
Banking sector reform was presented in

(a) 1990 () I=HIES

(b) 199] (F) THFEHF

{c} 1996 (/) mmd gwE TE
(d) 1998.

{1i1)

Which of the following is the cause of increase in
Public expenditure ?

(a) Planning and Development

() S (21) qw ()

(i) ST &y guR T Teeh widey w3

ol O wega # oot

(b) Increase in price level (31) 1990 H
(¢) Increase in population () 1991 H
(d) All the above. (9) 1996 H

(iv) S:.,Mﬁhm“a that trade is an engine of economic (%) 1998 |
Mwm%m%o: (iii) Frefafen § ¥ wH-w et = § gfg =
(b} Adam Smith FA 22
(¢) Ohlin | (1) I @ faew
(d) None of the above. (¥) Fmo-wR A Il

() Frafefas @ 7 FF-71 Fo1 5 s sme 2 (%) wween ¥ ofg
(i) ¥R % sq89R P wF ofFy 73 3 (7) ST G

(i) 7ol ufed gr-wfs, o ¥fa gooefy @ (iv) foe =8 o fiF =R enfdw fass =1 5o 2

Earu i d (37) {FETR
(i) S H H o R o # W | R (@) T oy
T T A (®) sisfem
(iv) =R S qe e FHAE g 2 (%) ST A @ el A R

2

1606/7,500/KD/211 3 [P.T.O.
1606/7,500/K1D/211 2



(3%

UNIT-I ( 3&tE-1 )
Explain the Classical theory of Inflation. 16
T-Biife & T fag= & = w)

Define Inflation. Discuss the Cost-push theory of Inflation.

16
IH-TRif 1 9ftern e ara-iRa ge-enifs # o
F TR F

UNIT-I1 ( 3%TE-11 )

What is Commercial Bank ? Explain the functions of a
Commercial Bank. 16

= ¥ T 27 i Y ® e w1 s w5

What do you mean by Financial system ? Explain how
financial system helps in mobilising saving and investment
in an economy. 16

fodra womelt | suw w1 afaurm 20 steferaeen © 9=m
au fraw = swed F0 o o yoeh R vER s
G ??

UNIT-III  s&3-101 )

Critically examine the principle of Maximum social
advantage. 16

fyhan wrfas @Y & 9= F1 TeEaEE S
Fifeu

What is Tax ? Explain the objectives and characteristics of a
good taxation system. 16

W oF P W o W ol Rw T
favmamatl =Y =mEn w0

1606/7,500/KD/211 4

UNIT-1V ( S&E-1V )

Critically examine the Comparative costs theory of
International trade, 16

AT R & JoFrHT @ fag S

Sra Fifegl

Discuss Classical and Modern approaches of gains from trade.
16

R " Y S F ARl g sy frememst

F AT T

1606/7,500/KD/211 5
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GSM/M-16 1611

PHYSICAL EDUCATION
(Health and Physical Education)
(For Regular Students)

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Select one question each
from Unit-I to Unit-1V. Question No. 9 (Unit-V) is
compulsory. All questions carry equal marks.

AT E U W B IW A IR SRV % T
TR A T WA F W T gem 9 (3FE-V)
Ftrard #) asdft woi & o wue &)

UNIT-1 (3®E-)
1. What do you understand by Warming-up ? Explain the
importance of Warming-up in detail. 10

T ¥ A 2 T R T w1 s v
Hife)
OR (37%T)

2. What do you mean by Cooling down ? Write in detail the
importance of Cooling down in the field of sports. 10

FIT T3 F oo I ¥ 2 AR @ 9§ Hhi SEA
* Wew w1 fatga o Fifa

1611/4,100/KD/354 (PTO.



UNIT-II (3ehTE-H)
3. What do you mean by Sports Psychology ? Write the
need and importance of Sport Psychology in the field of
games and sports. 10

A FaaE ¥ = A R 2 demE @ 99§ 9
AT F1 EYTRdl €6 HEw™ & IooRg HIAT

OR (379@)
4. What do you understand by Learning curve ? Explain the
types of Learning curve in detail. 10

e & o 9 7 afigm ? 2 e ® 9% F TR w0
fawga aui =4

UNIT-III (ZahrE-II)

5. Elaborate the Ancient Olympic Games in detail. 10
TR efefigs gl Hi faraRgds e wif)
OR (379a)
6. Explain Asian Games in detail. 10
TR A o fawargds 9o St

UNIT-IV (3FTE-1V)
7. Explain in detail the complete physiology of Respiratory
system, 10

Yo g W g fRa o fawga aole =
OR (39ar)
8. What do you understand by Respiratory system ?

Explain the structure of various organs of Respiratory
system. 10

Yo H | 1 31fye ? ? veus gem % fafe= e
T HEW F Ieod FSU)

1611/4,100/KD/354 2

9.

UNIT-V (3&T-V)
Compulsory Question ( 3tF@mt gw)
Answer the following in short,
= %1 ddn ¥ T S
(i) What is the meaning of Specific Warming-up?
fae w1 ow=n s
(i) What do you understand by Cooling down?
FfEm T W oad we wfag
(iii) Write the names of mo Laws of learning.
Wen % wE S e 9w feran
(iv) Write rwo causes of Learning plateau.
Wed F WR & F:E F IO forall
(v) Explain the Olympic Emblem or Symbol.
FATF wiE F oo
(vi) What do you mean by Residual Volume ?
TR A W oMU W eifuwy £
(vii) Two Physiological aspects of Cooling down.
HAT T F P framw wwq
(vii) Who was the father of Modern Olympic Games ?
TYfTF efims Bl = frm #W em
{ix) Write the meaning of Tidal Volume.
T AFT F o W T

(x) Write down rwo effects of Exercise on Respiratory
system.

YA A W AW $ W 99 fora) (2x10=20)

1611/4,100/KD/354 3



SECTION-B ( @US-7)

5.  Give in detail Bhajan, Geet, Trivat and Taan. 2,222
oM, T, frae @R am w1 Fum w0

6. What do you mean by Tanpura and Sahayak nad ? 8
TN J WEEE AR IR H Y N A 87

7.  Write about the placement of Swaras on shruties by Pt. Vitthal
and Ramamatya. 8
Y. faege ofR T gR AR WowER S T @ AR
¥ fofax)

SECTION-C (@uE-H)

8.  Give contribution towards music by Ustad Allaudin Khan OR
Ustad Faiyaz Khan. 8
IR A @ YA IWE BAST G H G ® W
RIUCERS e

9. Give in detail Medieval period's progress of Music. 8
TEFE H Wifa F W # aoiE #Y)

10. Write in detail on Sangeet Parijat and Sangeet Ratnakar Granth.

- + . w
g oitema wF wih e T w1 SR § ogvile =)
1612/1,900/KD/225 2

Roll No. oo

Time : Three Hours]

Total Pages : 2

1612

GSM/M-16
MUSIC (Vocal)
Paper-1 (Theory)

(Group-I)
Opt. (i)
[Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question

e -

1612/1,900/KID/225

from each section. All questions carry equal marks.
e @TE S w9 9 FH UE WA I g, w4 i
T wfwe Wi WA ® #F FE g

SECTION-A ( @UE-37)

Write the notation of Vilambit Khyal in any raga of your

syllabus with introduction. 8

ﬁiﬂﬁﬂn@i&i%@@ﬂm%%%
i wfga ffaul

Describe in detail Tal Tilwara with dugun. g8

e faeaE #1 [ |fgd avHE FIfE

Write introduction of Rag Bhairav and Bhairvi with aroh,

avroh and pakar. 8

S s Smm w1 oE, o TS wee e IR
Sl

Write notation of Drut khyal in Rag Khamaj. 8
T E@TE Y 3R T % @ fad)

[P.T.O.



Roll No. wcovveeiivriinen, Total Pages : 3

GSM/M-16 1613
MUSIC (Instrumental)
(Theory)
Paper-II
Time : Three Hours] (Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question

e

from each section. All questions carry equal marks.

TEE T W W W Y FH O W Y gC HA Ui
W F{ e T ® ofw gue €

SECTION-I ( 9TT-30 )

Write the notation of a Drut gat with two Toras in any Raga
of your syllabus. 8

HW ETFEE F fF ft = ™ 3@ W@ (IEE ™)
q dref wfem fafam

Write in detail the description of Rag Kedar and Khamaj with
Aroh and Avroh. 8

W FIR AL W @I A T %1 ol ofiEa e qen
e ufea fafau)

Write the notation of Chautal and Ada Chautal Tal in Ekgun
and Dugun layakaries. g

Hqe T AT Hde F TEFE e TR qgEE aw
fofrag wifaw)

1613/1,200/KD/226 [P.T.O.



SECTION-II ( 9T1-1) wﬂ@w@mm@m@i%ﬁ%ﬂg@%"

4. Explain the development of Music during Medieval period. (%) J3}
8
. . Q) dder|
nﬁﬂﬂwmﬂﬂm%mﬂaﬁﬂﬁz@ﬂr%_ ()
1) I
5. Write one Vilambit Gat of your syllabus with two Toras. & m
T TSTRE § O R of U W Y faafm T e ae 8. What is the contribution of Smt. Annapurna Devi in the field
7 | . of Music ? Explain in detail. 8
e At sl 3w e ® a8 § e A
6. Write short notes on any mwo of the following : fowr @ fafag

() Murchhana. 9. Write the role of Science in promoting education and cultural

(b) Amir Khani gut. aspects of Music. 8
(c) Sandhi Parkash Rag. wia & At aon wieptE faam ¥ TR 5 9 T
(d) Avirbhav-Tirobhav. 8 2, frangds fafag)

. . ) . 10. Write in detail the Gun and Dosa of Sitar Vadakas. 8
frefafen & 9 fFl 2 = wfuw A= o . ; Y @ e E av
(F) ==
(@) 1 @t )
(M) 9y g g
(%) anfaafa—fadrams)

SECTION-III ( Wrt-77)

7. Write about any mwo of the following instruments in detail :
(a) Sarod.
(b) Tabia.
(c) Violin. 8

1613/1,200/KD/226 2 1613/1,200/KD/226 3



6. What qualities a Personal Secretary is supposed to possess ?
Explain his qualifications also.
% it wfgg § $9-91 ¥ T B =i 9w St
ft samEu|
7.  What is Resolution ? What are the duties of Company
Secretary with regard to Resolution ?
‘vemE’ W A F e ¥ W % wey ¥ o wfey
% ¥ FHI 2
8. What are the duties of Company Secretary regarding Agenda
of Meetings of the company ?
FAA F G ® TR B G99 § T gfga B wasl
T oo FHfea
9.  Write notes on the following :
(a) Official Language Act.
(b) Types of Govt. Secretaries.
= w= e faw
(%) snfuemiiir s sfufyam)
(@) T feal &yl
10. What is the organization of Govt. Secretariat of a State ?
T & WEH Afeaey # §ed %) e St
1625/100/KD/233 2

Roll No. oo,

Time : Three Hours]

Total Pages : 2

1625

GSM/M-16
OFFICE MANAGEMENT

[Maximum Marks : 80

Note : Aftempt any five questions. All questions carry equal

e -

1625/100/KD/233

marks.

f&2l ufer oo % I AfTm osf v % o wOA
#|

Explain various types of Meetings. What are the duties of

Company Secretary regarding Company Meetings ?

fafe= wR =t gwst ) faoam Fifvw w1 gwe

% way o woedt ofee # o wde 2

Explain Secretarial practices regarding Quorum in Meetings.

s § ®A % g9y § gfed # wEOE # S
Eqi

What are the duties of Company Secretary regarding
‘Adjournment of Meeting’ ?

‘g F WA’ # ey ¥ S ofa # FJ wdas 3

What is Minute Book ? Explain the procedure of recording
minutes.

‘e i’ #0037 e @ oifieRaa wfEfy waRw

What is the role of Secretary in Govt. offices ?

R #wEeEl | afaa w1 gfter F e S

[P.T.O.



9.  Classify different types of Stains. How will you remove fresh

and dry stains of tea, blood, nailpolish and ink from cotton
cloth ? 8

fafs y6R % vs #1 Ffieo FIfNG gt w9 ®
M, TR, i U6 @R I T g9 a9 9
T ?

1630/1,800/KD/238 4

O RRRROON Total Pages : 4

GSM/M-16 1630

HOME SCIENCE
(Clothing and Textiles)
{Course No. 202)

Time : Three Hours] [Maximum Marks : 40

Note :

AT

Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit. All questions carry
equal marks.

FA ufg T SifNg T wEm 1 ofEd 1 Yo
R Y QWA W oud Sy wsft Y # o
ThE E

Compulsory Question ( 31Fard ¥ )

1. Answer the following :

(a)
(b)
(c)
(d)
(e)
H
(g)
(h)

Stitches and designs for Chamba rumaal.
Name the different stages of Silkworm.
Two qualities of Synthetic fibre.

What is Prussian blue for clothes ?

How to remove rust stain ?

Stiffening the clothes.

Name variations of Satin weave.

Uses of Ammonia in Laundry. (1x8=8)

1630/1,800/KD/238 [P.T.O.



Frafafas 5§ s <fau :

(%) 7m0 *0E & AU yEm Ry 99 9 TR @ O
(@) TR % F2 #t fafv= smeyst & am fean
(M) Fhm ag * 9 favmard

(7)) ¥R fa f7g #e B2

(T) I #1 e ®Y FN?

() ®uf H wEOH A

(3) 9fed 98 & FI=Rw % AW o)

(V) a8 ¥ ot & wanr fafan)

UNIT-I (Soh1E-1)

Explain various types of Phulkaries. What type of fabric,
design, thread, colour and stitches are used ? 8

faf= yR = wEa™ #1 FAREN wfEw) W R TER
F FIE, TR, uW, T @ AP wm fer s )

Define Fibre. Explain the qualities and importance of
Vegetable fibres and Animal fibres. 8

g #1 IR T gv=la @ e aqet ® o we
e 1 g9 w7

How Polyester is manufactured ? Describe the suitability of

polyester fibre. Discuss the blends of natural and artificial
fibres. 8

1630/1,800/KD/238 2

TRTER 1 IR Y T ¥ T T I STAmE
TRl WFfE TE Tad W % fagm @ 91 g0 wUSl #
i it

Describe various advantages and uses of Detergents. What is
the difference between Soap and Detergents ? 8

feorim & fafi= STm T oY wART 9Ed U fEEse
g st @72

UNIT-II { F&E-11 )

Classify different types of Laundry reagents. Explain any one
in detail. 8

fafrs wFR # yomrd wfaFHsl F e wifey)
= F fagn e S

What are the objectives of finishing the clothes ? Explain
Mercerizing and Water-proof finish. 8

T # TS & 3evd 9AEu WEUEfST T o-sEiE
ofigss H S HieT

Describe the following :
(a) Plain weave and its variations.
(b) Acidic reagents. (4x2=8)

frafafes =1 aolv &1
(F) 9t FE wE 3HF T
(@) o7eAg yafy ® Wfasus)

1630/1,800/KD/238 3 [P.T.O.



9. (a) Show that the Cauchy product of the convergent series
M C If is di 2V,
P /\H with itself is divergent. 2
- X —Xin
(b) Prove that “—I_” 1+ ~ e " s absolutely convergent
n=1
for all real x. 3
1637/4,900/KD/243 4

Roll No.

Time : Three Hours}

eatenaacisane Padvenean

Total Pages : 4

1637

GSM/M-16

MATHEMATICS
(Sequence and Series)
Paper : BM-241

[Maximum Marks : 27

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select one question from each section.

Compulsory Question

1. (a) Give anexample of an unbounded set which has no limit
point. 1
11 1

{b) Show that the series 2 + mlm + m.w Fons converges
to 1. 1
(c) Prove that a finite set has no limit point. 1
(d) State Leibnitz's test for the convergence of alternating
series. 1

(e) _mm|_|W+WIW+WI ....... show that

1 1 H 1 H 1 4
——— e =—8. 1

I+ 55 17T 3 + gt 3 S
SECTION-I

2. (a) Prove that between two distinct real numbers there are
infinitely many rational numbers. 22
(b) LetA={x:xe Q*andx?>2). Prove that set A has no
glb.in Q. 3
1637/4,900/KD/243 [P.T.O.



(b)
4. (a)
{(b)
5. (a)

Prove that the derived set of any set is a closed set. 214

Define closure of a set and provethat A UB=A UB
3

for any two arbitrary subsets A and B of R.

SECTION-II
Show that the sequence <a,> where a, = x" converges
to zero if | x | < 1. 2

Prove that the sequence <a_> defined by

a, = ~ + ! + +|~-
"Ta+l pe2 2n
. 1 .
15 convergent and Mm Lim g, €1 3
n— o0

Prove that if M a, and M b, are two series of positive

n=1l n=1

. a :
terms such that Lim % =1 (finite and non-zero), then
n—oce I,

o

both the series M a, and M b, converge or diverge

n=1 n=1

together. 3

(b) Examine the convergence of the series

M H_om n. 2V,

n=3

1637/4,900/KD/243 2

SECTION-III
6. (a) Test the convergence of the series
2 4 6
X x X
—_ —_— _ 1
H+N+a+m+ ...... ,x>0. 2,
(b) State and prove Logarithmic test. 3
7. {(a) Test the convergence of the series
2757 338 4% . x*
X+ 2 + 3 + ’ + o PAG
(b) Using Integral test, test the behaviour of the series
- 1
—, p>0.
SECTION-IV
¥ 5
8. (a) Show that the series x — ES + et is absolutely
convergent if and only if | x | < I but conditionally
convergent for | x | = 1. 2%
(b) Show that the series
b |.—. n-1 —n
MA ) i+l
n n
n=
1s convergent. 3
1637/4,900/KD/243 3 {P.T.O.



‘b1 Show that the Laplace integral

Do

,nm_.:&ﬂ
._.|.I|M ,,sw..«vo.avm_
o a +s”

. T
is equal to 5 ¢ “, (212)

9. (a) Using Parseval identity show that

M._w dx o
) (x7 +25) (x? +81) 1260 =
(b} An infinite string is initially at rest and that the initial

displacement is f{x), (-ec < x < oo}, determine the
displacement y(x, 1) of the string. (2V2)

1638/4,900/KD/244 4
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GSM/M-16 1638

MATHEMATICS
(Special Functions and Integral Transforms)

Paper : BM-242
Time : Three Hours] [Maximum Marks : 26

Note : Attempt five questions in all. Question No. } is compulsory.
Select one question from each section.

Compulsory Question

1. (a) Determine the radius of cgee of the power series

)

M _ 7 <" (1%2)

m=0"

L).J

{b) Write the formula for J (x) in the integral form for all

integral values of n. {1)

(c) Evaluate H, , (0). (1

(d) Find Legendre's polynomial P,(x) using Rodrigue's

formula. (1)

(e} Find the finite sine transform of f(x) = 2x where

D<x<d (1v2)
SECTION-I

2. (a) Find the series solution of the diff. eq.

4%y
(x — Hvail+ﬁlmxv -4y =0

about ‘0. (2V4)

1638/4,900/KD/244 [P.T.O.



Q_Mv.

{b) Find the power series solution of (1 — x?) =~

where y(0) = 4 and y'(0) = 5.
3. (a) Prove that

xw

._.H umﬁs dx = lol Tm:v + .:m

(b) Solve in terms of Bessel's function

d? d .1

14y 4y 2 _ 2

X >+ X +| 4x 3
SECTION-II

4. (a) Show that

(1=2xt +17)7" = M " P (x)
n=90

for|x|<1, |r]< 1.

(b) Prove that

dx*®

(0] +e.

2n(n + 1)

+2y=0

(242)

(2Y2)

(22)

(22)

!
._'&N P .1x)P,_(x)dx=
-1

Hence deduce the value of

1

.Tw P,, (x)P,_.(x)dx.
1]

1638/4,900/KD/244 2

Cn-D2r+1)2n+ 3

(22)

th

. (a) Show that
H' (v)=2xH, (x)-H, , (x). (2V%2)

(b) Prove that

T e 2 n 1
._..d-m TA:QL &HH/\MM n! :+M . (2%)
SECTION-III
- ¢cos 2
6. (a) Evaluate L ﬁﬁ . (2V4)
(b) Find the inverse transform of
— ~ «
mmam +1) (272)
7. (a) Using convolution theorem evaluate
2
M..L 5 3 1
(s” +4) (2%)
(b) Solve
d?y dy ,
4 - —— _2y=0, y0)=1,y(0) =2
H&Niw N:& y ¥(0) y(0)
(22)
SECTION-IV
8. (a) Find the Fourier transform of the function
) xe ¥ x>0 -
x)=
0 x<0. (2%2)

1638/4,900/KD/244 3 [P.T.O.
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GSM/M-16 1639

MATHEMATICS
(Programming in C and Numerical Methods)
Paper : BM-243
Time : Three Hours] [Maximum Marks : 20

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit. All questions carry
equal marks.

Compulsory Question
1. (a) Name any fwo data types used in C language. (1)
(b) What is meant by a C program being portable ? (1/2)
(¢) Write down the names of any 4 operators offered by
C language. (1
(d} What type in C corresponds to strings? (1/2)

{e) Define Automatic variable. How is it initialized? (1)

UNIT-I

2. (a) Draw a flow chart to find whether a number is prime or
not.

(b) What is Escape sequence? What is its purpose 7 (2,2)

3. What are Operators ? Chart various types of operators offered
by C language, and illustrate the precedence of these operators.

)]

1639/4,900/KD/245 [P.T.O.



UNIT-II 9. Solve the following equations by Jacobi's Iteration method :

Mo o— A
4. (a) Differentiate between the following : 10k + v + 2w = 44
(i) Switch and Else-if ladder. 2u + 10v + w =51
(ii) While and Do-whiie loop. u+2v+ 10w =901, 4

(b) Write a program to find sum of first 10 natural numbers.
(2,2)

5. (a) Differentiate between the following :

{i) User defined function and one belonging tc the
C library.

(i) Local and Globatl variables.

(b) How are Multi-dimensional arrays defined 7 Compare
its definition with that of One-dimensional arrays. (2.2)

UNIT-III
6. (a) What is the meaning of nesting of structures?

(b) What do you mean by Pointers? Explain the concepts of
pointer declaration and pointer dereferencing. (2,2)

7. {(a) Find the real root of the equation ¥ —x-4=0hby
Bisection method, correct to three places of decimal.

(b) Derive the inverse of a number by using Newton-Raphson
[terative formula. (2,2)

UNIT-IV

8. Solve the following equations by Gauss-Jordan method :

x+y+2z=9
2x-3y+4z=13
3x + 4y + 5z = 40. (4)

1639/4,900/K1/245 2 1639/4,900/K1/245 3



X
9. (a) Test the convergence of infinite product :oow YR

n=1
where x is an arbitrary fixed non-zero number. 4

o

(b) Prove that the series M‘ log (1 +a,) _ is convergent

n=1

iff M_ a, | i convergent. 4

n=1

1647/17,000/K37247 4
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GSM/M-16 1647

MATHEMATICS
(Sequence and Series)
Paper : BM-241

Time : Three Hours) [Maximum Marks : 40

Note : Attempt five question in all. Q. No. 1 is compulsory. Select
one question from each section.

Compulsory Question

1. (a) Give an example to show that A° w B°® # (A U B)".

1%
(b) Show that the set S =11 e Nl is closed.
n
1%
{c) State Gauss Test. 12

- n
(d) Show that the series MINM!.._.IH is not convergent. 112

n=1

{(e) Prove that a necessary condition for convergence of an

infinite product EC ta,)isthata, = 0asn — co

n=1

1647/17,000/KD/247 [P.T.O.



SECTION-I
2. {ar If A and B are two non-empty bounded subsets of R and
A—-B={a-bae A be B}, then prove that
sup. (A - B) = sup. A —inf. B. 4
(b) Prove that every non-empty subset of real numbers which
is bounded below has a real number as jts infimum. 4
3. {(a) Prove that the closure of a set A < R is the smallest
closed super set of A. 4
(b) Find the derived set of following sets
(i) A= _+H.S= N
“\2m T3 TE
N . 1
(1) B={(-1) +—:ineNp. 4
SECTION-II
4. (a) State and prove Cauchy's Ist theorem on limits, 4
{b) Prove that the sequence <a,> defined by
_1 I 1 1 1
a, = +.HM¢;MM +.WM¢| ........... +.MM
is convergent and 2 < ::.an a, <3 4
5. (a) Showthatifthe series Maz converges,then Lt q, =0,
n=1 n—joca
Show by an example that converse is not true. 4
1647/17,000/KD/247 2

(b)

(b)

(b)

)

Discuss the convergence of

M|:H|IJHVO. 4

x4+ x"

SECTION-II
State and prove Cauchy's Root test. 4

Test the convergence of the series

X 2! 2 w ! 3 4 ! 4
~+.mw¢.mm.H +.MM.H +.WM.H + o x>0, 4
- 2
Test the series M ne " for convergence. 4
n=l1

=

1

t i ———— is convergent if
Show that the series 2Mu‘_ (7 Togn)? g
p>1and divergent if O<p < 1. 4

SECTyON-IV
Show that the series

log2 log3 log4

NN uw L.N

converges. 4

Test the convergence of the series

& (n +DB -y
log n

n=3

1647/17,000/KD/247 3 (P.T.O.



du *u
9. (a) Solve 5 = mlw T ifu@, =0, u(x,0)=e*x>0
x
u(x, ty is bounded when x> 0, t > 0. 4)

(b) Solve the integral equation

._. f(x)cosSxdx=e"" 4)
0

1648/17,000/KD/248 4
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GSM/M-16 1648

MATHEMATICS
(Special Functions and Integral Transforms)
Paper : BM-242

Time : Three Hours) [Maximum Marks : 40

Note : Attempt five questions in all. Q. No. 1 is compulsory. Select
one question from each unit.

Compulsory Question
1. (a) Express the Bessel function J 1(x) in the from of series.

(2)
1

(b) Show that Tw_ (x)dx=2ifn=0. @)
o

(¢) Evaluate I, P&:.h . 2)

t

(d) If f(s) is the infinite Fourier transformation of fx),
then Fourier transform of fx) cos ax is given by

1 = 1 =
Mx@l3+M\.@+&. 2)
UNIT-I
2. (a) Solve the following differential equation about x =0 :
d mw dy 2
HMR{W.TH.TH %HO. Abv

(b) Solve that J (¥ = (-1)"J (x), where 7 is an integer.
(4)
1648/17,000/KD/248 [P.T.O.



3. (a) Verify that the Bessel's function J, (x)=

. 1
satisfies the Bessel's equation of order 5

(b) Solve the following about x = 0 :

d? d 5
24y 4y [ 2 -
x5 —= a|_ X +IhF y=0

UNIT-1I
4. (a) Prove that

l
.Tuscc P,(x)dx =0 if m % n and
-1

2

1
.TN_@:M dx =m~—= ifm=n.
I~

(b) Show that

d"

A"
5. (a) Show that
HY (x) - 2xH,(x) + 2nH (x) = 0

(H,(x))=2" .|n Hy(x).

where H, (x) is Hermik's function of order n.
(b) Prove

Ps(x) = W Tm:o —315:* +105x° -

1648/17,000/KD/248 2

—sin x

X

5.

(4)

4)

4)

4)

(4)

4

UNIT-1I1

6. (a) Find L (J(1)). @
(b) Find L™ > )
1 e B
st 457 +1
7. (a) Using Convolution theorem, evaluate
1
LY ——
G2 +ad) (4)
(b) Solve the following :
dx dy _
3 ar + N +2x=1
dx dy
M +4 N + u% =0
when x(0) = 3, ¥(0) = 0. 4)
UNIT-1V
8. (a) Find the sine transform of
£ sinx O<x<a
X)=
0 xX>da “)
(b) Using Parseval's identity show that
M._m dx _ T
) +25) (2 +81) 1260 “)
1648/17,000/KD/248 3 [P.T.O.



Roll No. ..., Total Pages : 3
GSM/M-16 1649
MATHEMATICS
(Programming in C and Numerical Methods)
Paper : BM-243
Time : Three Hours] [Maximum Marks : 30

Note :  Attempt five questions in all, Question No. | is compulsory.

(b

(b)

Select one question from each section.

Compulsory Question

Define Flow chart. (1)
What is the syntax of scanf function ? (1)
What is the purpose of break statement ? {1
What are global variabies ? (1)
What is a structure tag and what is its purpose 7 (1)
Define Descarte’s rule of signs. (1)
SECTION-I
What is a bit ? What is a byte ? What is the difference
between a byte and a word of memory ? (3)

What are constants ? Name and describe the Jour basic
types of constants in C. (3)

Describe the process of computation and compilation of

a source program in C. (3)

What is the difference between Postfix and Prefix
increment and decrement operators ? Explain with
example. (3)

1649/17,000/KD/249 [P.T.O.



(b)

(b)

(b)

(b)

SECTION-II

Explain the syntax of switch statement by an example.

3)

What is meant by Looping ? Define For-loop and

While-loop. (3)

What is macro and what is its use ? (3

Write a program to find trace of a 3 x 3 matrix. (3)
SECTION-III

Distinguish between Structure and Union. 3)

What is meant by the address of a memory cell ? How
are addresses usually numbered ? 3

Find a real root of the equation x* — x — 10 = 0 using
Regula-Falsi method. 3)

Prove the recurrence formula

1 N
X =720+
i+l 3 Hw

for finding cube root of N. Hence find cube root of 24.

3)
SECTION-IV
8. Solve the following equations
2x; +4xy +3x3=9
3xy + x5 — 2x3 = -1
X =X, +x3=6
by Triangularization method. (6)

1649/17,000/KD/249 2

9.  Solve the following equations
Sx+y+2z=19
x+4dy-2z=-2
2+ 3y + 8z =39

by Gauss-Seidal method.

1649/17,000/KD/249 3



3. (a) Explain the basic postulate of Statistical Physics. 3
(b) Derive Boltzmann Distribution Law. 5
UNIT-II

4. Explain the different kinds of Statistics. Also explain the
common approach in dealing with these statistics. 8

3. Define Maxwell-Boltzmann's law of distribution of speeds,
and hence explain in detail its graphical representation. &

UNIT-1I

6.  What do you mean by Fermi gas? Derive an expression for
the energy of a Fermi gas at absolute gas. Point out its physical
significance. 8

7. What do you understand by Bose-Einstein condensation?
Calculate the critical temperature at which condensation will
start. 8

UNIT-1V

8. What are the assumptions of Einstein's theory of Specific heat
of solid? Derive the relation for specific heat using this theory.
8

9. What are Debye's assumptions? How does it obtain specific
heat of solid at different temperatures ? What is fault of this
theory? 8

1652/15,600/KD/252 2

Roll No. ..o Total Pages : 2

GSM/M-16 1652

PHYSICS
(Statistical Physics)
Paper-VII

Time : Three Hours)

Note : Question No. | is compulsory. Four more questions are to
be attempted. selecting one question from each unit. Use
of Scientific (Non-programmable) calculator is allowed.
Log tables may be asked for.

[Maximum Marks : 40

Compulsory Question
1. (a) Calculate Einstein's frequency in a case for which
B = 236K.
Given that kg = 1.4 x 12723 JK-1, A= 6.6 x 1034 J sec.

(b) If the r.m.s. speed of hydrogen molecule at N-T.P. is
2 % 10° em/sec., find the r.m.s. speed of oxygen molecule

at N.T.P, 2
(¢} Calculate the 'A Priori Probability' of drawing a king
out of a well shuffled pack of cards. I
(d} Distinguish between Bosons and Fermions. 1
(¢} What are the constraints which are obeyed by a photon
gas at a given temperature? 1
(f) Distinguish between Statistical Probability and A Priori
Probability. _ 1
UNIT-I

2. Explain the distribution of four distinguishable particies in
two compartment of equal size, and hence define microstate,

macrostate and thermodynamic probability. 8
1652/15,600/KD/252 [P.T.O.



UNIT-11
4, State and explain Fourier theorem and apply it to analyse the
output of a half wave rectifier. (8)
5. (a) Explain Parseval's theorem. &)
(b) Find the value of Fourier Sine and Cosine integral. (3)
UNIT-IIT
6. (a) Define Infinite Fourier Sine and Cosine transform. (4)
(b) Find the Fourier transform of f(x) = e™*/2, @)
7. (a) What is Translation matrix 7 Explain. (4)
(b) Two convex lenses of focal length 10 cm and 20 ¢m are
placed in air at a separation of 5 cm. Calculate the position
of the cardinal points and the equivalent focal length of
the system. (4)
UNIT-1V
8. (a) Whatis Chromatic Aberration of lens ? Explain how an
achromatic lens can be made by placing two thin lenses
in contact. (6)
(b) The dispersive power of the material of lens is 0.026
and it produces a chromatic aberration of 0.351 cm.
Calculate the mean focal length of the lens. 2)
9, (a) What is Attenuation in optical fibre ? Give various
mechanisms for attenuation in optical fibre. (3)
(b) What is Graded index fibre ? 3
(¢c) Describe the numerical aperture of an optical fibre. (2)

1653/15,600/KD/253 2

ROII NO. vt Total Pages : 2
GSM/M-16 1653
PHYSICS
(Waves and Optics—II)
Paper—VIII

Time : Three Hours] Maximum Marks : 40

Note : Attempt five questions in all. Select one question from each

unit. Question No. 1 is compuisory. Use of Scientific
calculator (Non-programmable is allowed.

Compulsory Question

1. (a) What is the difference between Positive and Negative
crystals ? (1)
(b} How does polarised light differ from ordinary light ?

(1)

(¢} Write the Fourier Integral in complex form. (2)

(d) What do you mean by Elements of a matrix 7 (1)
(e) Write the expression for Linear and Angular

2

magnifications. (2)

()  What do you understand by Achromatic doublet ?
(1

UNIT-I
2. (a) Describe the construction and working of a Nichol prism.
How is it used as Polariser and Analyser ? (6)
(b} State and explain Malus Law. 2)
3. Discuss Huygen's theory of double refraction. (8)
1653/15,600/KD/253 P.T.0.
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GSM/M-16 1654

CHEMISTRY
{Inorganic Chemistry)
Paper-X1 (CH-204;

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select hvo questions from each section.

Compulsory Question

1. ta Why Eq(EURQPILM) and Yb(YTTERBIUM| show

AL NGO X Al No 70 ;
+2 oxidation state ? Explain. 2
(b} Write four differences of Lanthanides and Actinides. 2

(¢c) Explain the chemistry of Matchstick test for Sulphate.

2
(d) Differentiate between fonic product and Solubility
product of a salt in an aq. solution. 2
SECTION-I
2. (a) La*? ?>ZHE>ZGZV is diamagnetic while
At.No.57
Sm*? Am >K.\ww%2—g is paramagnetic, why 7 3

by Ce*? Homadzv is colourless while

At N0.5B

prt Am.w>mm00<§~dzv is coloured. Why ? 2
At. No. 59

{¢) What is Anti-penultimate shell ? 1

1654/12,000/KD/1405 [P.T.O.



3 (a)

(b)

(b)

(c)

(b)

What is Lanthanide contraction 9 Give its three
consequences, 3

Sketch the flow chart diagram for extraction of
Lanthanides from Manazite sand. 3

Actinides form Oxo-cations while Lanthanides do not.

Why ? 3
Actinides form complexes more easily than the
Lanthanides. Why ? 2

What is the maximum oxidation state shown by
Actinides ? i

Give the details of following two methods used for the
separation of Neptunium, Plutonium and Americium
from Uranium ;

(RS

(1)  Ion Exchange method.
(1) Stability of oxidation states. 2
As compared to Lanthanides it is difficult to explain the
magnetic properties of Actinides. Why ? 2

SECTION-I1

6.  Give the details of the following tests :

{a)
(b)
{c)

7. (a)

3%

Chromylchloride test for Chloride.

Ring test for Nitrate. 2
Ammonium molybdate test for Phosphate. 2
The group reagent for Ind gp. of basic radicals is H-S T
in presence of dil. HC! and for IVth gp. of basic radicals
is H,S T in presence of NH,OH. Explain why s0 ? 4

1654/12,000/KD/1405 2

(b) 1In Ist gp. of basic radicals Ph+* (Lead) 1ons are not
precipitated in hot solution. Why ? 2
8. (a} How Chloride (C17). Bromide (Br~) and lodide {I") 10ns
can be detected when present together ? 3
(b) Give any one method to detect NO; (Nitrate) in
pressence of NO- (Nitrite), 2
(c)  Which of the following gives Flame test :
. cdt*- o PR L +2
W) o G 0, (i) :wwmmﬁaw. 1
9. (a) What is Interfering radical ? Give any one method to
remove phosphate when present as interfering radical in
salt mixture. 3
(b) Give the details of Nessler's reagent test for Ammonium
ion. 2
(c)  Which of the following is an interfering radical :
(1}  Oxalate ion.
(i1} Sulphate ion
(iii) Carbonate ion. l
1654/12,000/KD/ 1405 3
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GSM/M-16 1655

CHEMISTRY
(Physical Chemistry)
Paper—-XII (CH-205)

(Theory)

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory.

1. (a)

(b)

(©)
(d)

(b)
(c)

Select rwo questions from each unit.

Compulsory Question

What is meant by Efficiency of heat engine ? Explain
the term Source and Sink. 2

Explain Gibbs Free Energy. What is its physical
significance ? 2

What is meant by Reference Electrode ? Explain. 2
What is Liquid Junction Potential ? How it can be

minimized ? 2
SECTION-A

Give mwo statements of Second law of thermodynamics.

2

Denive Gibbs-Helmholtz Equation. 2

5 moles of an ideal gas expand reversibly from a volume
of 8 dm? to 80 dm? at a temperature of 35°C. Calculate
the change in entropy. 2

What is Carnot cycle ? Calculate the efficiency of a
reversible Carnot engine working between two
temperatures T, and T,. 4

1655/12,000/KD/254 [P.T.O.



4. (@

(b)

(b)

(c)

6. (a)

(b}

(b)

Prove that in a reversible process net entropy change for
the system and surrounding is zero. 2

Explain the term Entropv. Show that entropy is a state
function. 3

State Third law of thermodynamics. Briefly explain its
importance. 3

State and explain Nernst Heat Theorem. 2
The free energy change (AG) accompanying a given
process is —85.77 kI at 25°C and -83.68 ki at 35°C.

Calculate the change in enthalpy (AH) for the process at
30°C. 2

What is Residual entropy 7 What is its origin and how
can it be calculated ? 2

SECTION-B

Differentiate between Electro-chemical cell and
Electrolytic cell. 2

What are Reversible electrodes ? Explain the following
electrodes :

{1y Metal-Metal Ion Electrode.
(ii) Hydrogen Electrode. 4

Derive Nernst Equation for measuring EMF of a cell.
3

Calculate the EMF of the concentration cell consisting
of zinc electrodes, one immersed in a solution of
0.01 molality and the other in a solution of 0.1 molality
at 25°C. The two solutionss are separated by a salt bridge.
The mean activity coefficient of the electrolyte may be
assumed to be unity., 3

1655/12,000/KD/254 2

8.

al

(b)

(a)

(b)

What are Concentration cells ? Derive an expression for
EMF of Electrolyte concentration cell without
transference, 4

A zinc electrode is placed in 0.1M solution of zinc
sulphate at 25°C. If the degree of dissociation of salt at
this concentration is found to be 0.95, calcuiate the
electrode potential of the electrode at 25°C.
Given that

E),. =-0.76 volt

2N

Discuss the applications of EMF measurement in
potentiometric titration. 4

Explain how you will determine the standard electrode
potential of zinc electrode. 2

1655/12.000/KD:254 3



(c) Identify A, B and C in the following reaction sequence
and give the mechanism for the conversion of

BtoC: 2
O
1]

A _Co

CH, .

9. (a) The combination of CrO, and sulfuric acid is often
referred as Jones reagent, and the oxidation of alcohols
with this reagent in acetone is called Jones oxidation.
Jones oxidation is not a good method to oxidize

primary alcohols to aldehydes. Why ? 2
(b} Give structure of the ylide and carbonyl compounds
needed to prepare the following alkenes : 2

(i) CgHsCH=CHCH, (i) OHQ&

(c) For Cannizaro reaction, indicate
(i)  Why the reaction cannot be used with aldehydes
having an o-hydrogen ?
(ii) The reaction product of a crossed Cannizaro
reaction between formaldehyde and

benzaldehyde. 2

1656/11,900/KD/355 6
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GSM/M-16 1656

CHEMISTRY
{Organic Chemistry)
Paper-X1II (CH-206)
(For Regular Students)
Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit.

Compulsory Question

1. (a) You find a bottle on the shelf only labelled C,H.O.
You take an IR spectrum of the compound and find

major peaks at 2950, 1720 and 1400 cm™'. Draw a
molecule that might be the compound in the bottle and

also assign the peaks to the various groups. 2

(b} Write the structural formulas, common names and
IUPAC names of all the isomeric amines pertaining to

the formula C,H,,N. 2
(c) Explain why excess of mineral acid is added during
diazotization of arylamines. 2
(@) The order of reactivity in nucleophilic addition is
H R R
N
=0 > =0 » =0
H - H R
Account for this order in terms of steric and electronic
factors. 2

1656/11,900/KD/355 [PTO.



2. (a) How will you distinguish between the following
compounds on the basis of IR spectroscopy ? 2
m_w
() CH3~CHz~CHp=NH, and CH;-CH,~C-NH,
AY O----- H-O
7 4
(ii) mIOM and x!OM wo..x
o-H O-H-----07
(b) Explain the following terms with examples :
(i)  Fermi resonanace.
(i) Hooke’s law. 2
(¢) Which of the carbon-carbon triple bonds in the
compounds shown below are expected to have
IR-active stretching frequencies, and why ? 2
H-C=C-H H-C=C-CH, CH;-C=C-CH,
3. (a) The following compound has three carbonyl groups.
Rank them in order of increasing wave number in an
IR spectrum with explanation : 2
(b) Give the approximate range of C—C stretching vibrations
in the following compounds, and explain the reasons
for the difference in the energy of vibrations : 2
w n_u /OIO\ C=C
[ /A -
1656/11,900/KD/355 2

UNIT-I

()

(a)

(b)

{c)

1656/11,900/KD/355 3

The carbonyl stretching vibration of ketones is at a
longer wavelength that the carbonyl stretching
vibration of aldehydes. Suggest a reason for this
observation. 2

Explain why the following compounds cannot be
prepared by using Gabriel synthesis : 2
(i) OIuln_T.zxu

(ii) @lzzp
CHy

Suppose we want to achieve the following
transformation :

@
We try to perform this transformation using Br,, but
we find that aniline is too reactive, and we get a mixture
of mono-, di- and tri-brominated products. What can
we do to obtain the desired product and avoid
polybromination ? 2
Three isomeric compounds A, B and C of the molecular
formula C;H N are reacted with p-toluene sulphonyl
chloride (Hinsberg’s reagent). Compound A gives a
solid, soluble in alkali, compound B forms a solid,
insoluble in alkali whereas the compound C does not

react at all. Identify the compounds A, B and C, and
explain the reactions involved. 2

o

[PTO.



(b)

©)

6. (a)

(b)

(©)

Write the steps involved in the following reaction :

0

Br, / NaOH

C. 2 e R-NH,
NH; H,0

R”
How will you establish that in such a transformation
there is retention of configuration at the migration
atom 7 Is it an inter- or intramolecular process 7 2
Inductive effect is not the only criterion for the basic
character of different amines. Explain taking suitable
examples. 2
Show how you could prepare each of the following
amines from benzaldehyde by reductive amination :
(i)  Benzylamine.

(i) N,N-Dimethylbenzylamine. 2

UNIT-H0
Discuss the action of nitrous acid on 1° and 2 aliphatic
and aromatic amines. 2
Discuss the mechanism of reduction of benzene-
diazonium chloride with sodium sulphite. 2
A solution contains 1 g mol. each of p-toluene
diazonium chloride and p-nitrophenyl diazonium
chloride. To this 1 g mol. of alkaline solution of phenol
is added. Predict the major product. Explain your

answer. 2

1656/11,900/KD/355 4

7. (a) Starting from m-dimethylbenzene, write the products
formed in each step of the following reaction

sequence : 2

CH;

NaNO/ HCl CuBr;

(MHNOy _ L -

(ii) Fe / HCI

CHs

(b) Give a mechanism of coupling of diazoniuvm salts with

phenol. 2
(c) Prepare the following from benzenediazonium chloride :

(1) Todobenzene,

(ii) Fluorobenzene,

(iii) Benzene, and

(iv) Phenylhydrazine. 2

8. (a) Predict the major product(s) and their formation with

mechanism :

m m
Cock, om\o,o\oIr o

(b) Why do carbonyl compounds having an a-hydrogen
react with secondary amines (R,NH) to yield enamines,

but gives imines with primary amines (RNH,)? 2

1656/11,900/KD/355 5 [PTO.



Write notes on the following :
(a) Cyathium inflorescence.

(b) Taxonomic ranks, (4+4=8)

UNIT-1I

Give a brief outline of the classification of Angiosperms
proposed by Bentham and Hooker. 8
Write notes on the following :

(a) Floral description of Coriander.

{b) Economic importance of family Malvaceae. (4+4=8)
Write floral formulae and draw floral diagrams of the
following :

(a) Calotropis.

(b) Delphinium (Lark spur). (4+4=8)
Write notes on the following :

(a) Diagnostic features of family Leguminosae.

{b) Corolla and Androecium of family Labiateae. 8

1659/3,600/KD/257 2

Roll No. oo,

Time : Three Hours]

Total Pages : 2

1659

GSM/M-16

BOTANY
{Biology & Diversity of Seed Plants—II)
Paper-I

{Maximum Marks : 40

Note : Attempt five questions in all. Question number 1 is

compulsory. Attempt at least one question from each unit.
All questions carry equal marks.

Compulsory Question
(a) Define Experimental taxonomy.
(b) Define Herbarium.
(¢) Central National Herbarium is situated at ...........
(d) Which inflorescence is present in Brassica ?
(¢) Monoadelphous condition.
(f) Epipetalous.
(g) What are Dichotomous keys ?
(h) Type of inflorescence in Rice. {1x8=R)

UNIT-1
Write notes on the following :
(a) Botanical Nomenclature.

(b) Role of Taximetrics in Taxonomy. (4+4=8)

What are the fundamental components of Taxonomy ? Discuss
them. 8

What are Keys ? How do they help in the identification of
plants ? 8

1659/3,600/KD/257 [P.T.O.



4.  Give only neat and well labelled diagrams of the following :
(a) T.S. of mature Bithecous anther.
(b} V.S. of mature Pollen grain. (4+4)

5. Give a concise account of the following :
(a) Self-incompatability.

(b) Development of Male gametophyte, (4+4)
UNIT-II

6. What are Fruits ? Describe in detail the various kinds of simple

succulent fruits, 8

7.  Describe the structure of a typical angiospermic ovule and
functions of its various parts giving a relevant diagram. 8

8.  Attempt the following
(@) V.S. of Maize grain.

(b) Double fertilization and its significance. (4+4)
9. Briefly describe the embryogenesis in a typical

dicotyledonous plant giving relevant diagram. 8
1660/3,600/KD/258 2

ROIINO. v, Total Pages : 2
GSM/M-16 1660
BOTANY
(Plant Embryology)
Paper-II

[Maximum Marks : 40

Time : Three Hours]

Note : Attempt five questions in all. Question No. 1 is oo.EwEon.
Select rwo questions from each unit. All questions carry
equal marks.

Compulsory Question

1. Define the following :
(a) Androphore.
(b) Autochory.
(c) Herkogamy.
(d) Nucellus.
(e) Palynology.
(fy Polyembryony.
(g) Sorosis.
(h) Synergid. (1x8=8)

UNIT-1

2. What is Pollination ? Describe the characteristics of
Entomophilous and Ornithophilous plants giving suitable
examples. 8

3. Justify that flower is a modified shoot, and also give functions
of various floral parts. 8

1660/3,600/KD/258 [P.T.O.



3. (a) Enlist the differences between poisonous and non- Roll No
poisonous snakes. 3 s eeeessaenn

......... Total Pages : 2
(b) Draw a well labelled diagram of the internal structure GSM/M-16 .—QQ.—
of Heart of Frog. 4 ZOOLOGY

4. Describe in detail the female urinogenital system of (Life and Diversity of Chordates—1I)

Hemidactylus. T4 Paper-1
S. (a) Describe evolutionary tree of reptiles. 45 Time : Three Hours] [Maximum Marks : 40
(b) Write a note on T i
on lruncus arteriosus of Frog. 3 Note : Attempt five questions in all. Question No. 1 is compulsory.
SECTION-B Attempt four questions from Section A and B, selecting
6. Describe the structure and y ) . two questions from each section. Illustrate your answer
working of Eye of Pigeon. 7% with suitable diagram(s) wherever necessary.
7. What are Volant adaptation ? Enumerate morphological,
anatomical and physiological adaptations of flight in the birds. Compulsory Question
7%
8. (a) Givea short account on adaptive radiations in Eutherians. 1. Explain the following in about 20 words cach :
3 (a) Poisonous apparatus.
(b) Draw a well labelled diagram of Male reproductive (b) Hemipenes.
system of Rat, 415 (c) Vocal sacs.
9.  Describe the Digestive system of Rat. TV (d) Meninges.
(e) Pterosaurs.
() Pecten.
(g) Furcula.
(h) Migration.
(i) Vibrissae.
(j) Adaptive radiations. (1x10=10)
SECTION-A
2. Explain Pulmonary respiration in Frog. 72
1661/3,600/KD/259 2
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GSM/M-16 1662

ZOOLOGY
(Mammalian Physiology-II)
Paper-II

Time : Three Hours] [Maximum Marks : 40

Note : (i) Attempt five questions in all.
(ii) Question No. 1 is compulsory. Each sub-question of
Q. No. 1 carries 1 mark. Answer 1o any sub-question
should not exceed 20 words.
(iii) For the remaining four questions, attempt fwo
questions each from Section A and B.

Compulsory Question

1. Define the following :

(a) Chloride shift.

(b) Haemopoiesis.

(¢) Micturition.

(d) Osmoregulation.

(e) Electrocordiogram.

(f) Action Potential.

(g) Cascade Effect.

(h) Cretinism.

(i) Spermiogenesis.

(i Gestation. (1x10=10)

1662/3,600/KD/260 [PTO.



SECTION-A
2. Describe the origin and conduction of Heart beat. 7Y
3. (a) Give an account of the exchange of gases at Lung
level and at Tissue level. 5
(b) What is Blood pressure ? Name the instrument with
which it can be measured. Describe the types of blood
pressure. 2a
4. (2) Describe Omithine cycle. 413
{b) Describe various features effecting Oxygen dissociation
curve of haemoglobin. 3
5. (a) Describe the role of Loop of Henle in urine formation,
414
(b) Give a brief account of Inspiratory Reserve Volume
(IRV) and Expiratory Reserve Volume {ERV), 3
SECTION-B
6. (a) Give an account of Saltatory conduction of nerve
inpuise. 4
(b) Differentiate between Pre-synaptic and Post-synaptic

membranes. s

7. Name the various hormones and their functions secreted
by Pituitary gland. V2

1662/3,600/KD/260 2

Draw a well labelled diagram of human sperm. 3

(a) :

(b) Describe briefly the Manstrual cycle in human female.
412

(a} Write a note an Synaptic fatigue and its cause.

(b) Differentiate between Diabetes mellitus and Diabetes

insipidus. _
(c) Write a short note on Implantation. (2Vax3=T"2)
1662/3,600/KD/260 3
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GSM/M-16 1665

ELECTRONICS
(Op-amp and Linear Integrated Circuits-II)
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select one question from each unit,

Compulsory Question

1. (a) Calculate gain of an amplifier with positive
feedback. 2

(b) Crystal oscillators are highly stable. Comment. 2

(c) How a Monostable Multivibrator can be used to Gate
other circuits ? 2

(d) A power supply is rated at 20 volts/2 A. Calculate the
value of the load resistance that can be connected

without being damaged. 2

UNIT-1
2. (a) Draw the block diagrams of four distinct types of
teedback topologies. 4
(b) The input and output resistances of an operational
amplifier are 400 kQ and 100 Q respectively. When

1665/1,800/KD/263 [PTO.



7.

negative feedback is applied in the non-inverting
configuration to increase the input resistance to
40 M{), the gain of amplifier reduces to 1000, Find
(i)  The open loop gain of the op-amp.

(ii))  The output resistance with negative feedback.

(iii) The feedback factor. 4

(a) Explain how output resistance is affected in voltage
series feedback connections. 4
(b) Discuss the effect of negative feedback on harmonic

distortion of an amplifier. 4

UNIT-II
Discuss the circuit of RC Phase shift oscillator. Explain its
working. Find the condition for sustained oscillation and

expression for its frequency of oscillation. 8

Draw the circuit diagram of Hartley oscillator. Explain its
operation and derive the relation for frequency of oscillation
for the same. 8

UNIT-III
Draw and explain the circuit of Astable Multivibrator by
using transistor. Draw its waveform, and calculate the

frequency of oscillation. 8
{a) Write a short note on Diac. 3
(b) How triangular waveform can be generated? 5

1665/1,800/KD/263 2

UNIT-IV

8. (a) Draw and discuss BIT as Series regulator. 4
(b)  What do you mean by Current regulation ? 2
(c) A zener diode shunt regulator has R, = 1.5 kQ,
V,=6V at 1.5 mA and R, = 15 Q. The input to the
regulator varies from 15 V to 25 V. Calculate the change
In Zener current and input regulation factor S, 2
9. (a) Discuss how the short-circuit protection is provided
in series voltage regulator using operational
amplifier. 4
(b) How power supply regulation can be obtained by
using operational amplifier ? 4

1665/1,800/KD/263 3



UNIT-1I
What do you understand by Memory ? How are they
classified ? What is the difference between Serial and
Random accessing of memory ? 8

What is Masked programme ROM and how they differ

from Diode matrix ROM ? 8
UNIT-III

Explain the working of Weighted reststor DIA converter

with the help of circuit diagram. 8

Discuss the various specifications of Analog to Digital
converter. 8

UNIT-1IV
What is the difference between Isolated I/O and
Memory-mapped I/O 7 What are the advantages and
disadvantages of each 7 8

Why are read and write control lines in a DMA controller
bidirectional ? Under what condition and for what purpose

are they used as inputs and outputs respectively ? 8

1666/1,800/KD/264 2

Time : Three Hours]

Total Pages : 2

1666

GSM/M-16

ELECTRONICS
(Digital Electronics ~ II)

{Maximum Marks : 40

Note : Attempt five questions in all. Q. No. 1 is compulsory.

1666/1,800/KD/264

Select one question from each unit. All questions carry
equal marks.

Compulsory Question
(a) What do you understand by Sequential circuit ? 2

(b) How a flip-flop is bistable ? 2

(c} Why the output state of flip-flop is not changing,

when clock = 0. 2

(d) What are Volatile and Non-volatile memories ? 2
UNIT-I

Explain the various modes in which the data can be entered

or taken out from a register. 8

Describe the working of a PIPO <hift register. Explain
how a number can be shifted in and out from such a

register. 3

[PTO.
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GSM/M-16 1667

COMPUTER SCIENCE
(Object-Oriented Programming with C++)
Paper-1
Time - H Maxi Marks : B.A.:25
ime : Three Hours] [Maximum Marks : BSc. - 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit. All questions carry

equal marks.
Compulsory Question
1. (a) Define Encapsulation related to Object-oriented
paradigm.

(b) Differentiate between Constructor and Destructor.
(c) What is this pointer 7 What is your reaction to the
statement : delete this;
(d) What is inline function ? Mention its advantages.
5(8)

UNIT-1
2. (a) Explain class and object in C++ with example. How
does a class implement data hiding ? 214(4)
(b) Explain the concept of static member function with
example program in C++. 214(4)

1667/4,800/KD/265 [PTO.



(a) Discuss the benefits of Object-oriented programming.
2Y2(4)
(b) Write a short note on Nested and Local class, 214(4)

UNIT-II
Discuss the need of Constructor in C++ ? How is it different
from Normal member function ? Explain its types with
example. 5(8)

Draw Console stream class heirarchy, and explain its

members, 5(8)
UNIT-H1

(a) What is Manipulator ? Why do we need it ? Discuss

any two manipulators with example. 21%4)

(b) What are Dynamic memory management operators in
C++ ? Explain their uses and syntax with example.

214(4)

What are friend functions and friend classes ? Write a program
to add two complex numbers using friend function. 5(8)

UNIT-IV
Write down a C++ program to overload operator '+' to add
two lines in hours, minutes and seconds. 5(8)

1667/4,800/KD/265 2

9.

(a) Define Polymorphism. What are the merits/demerits of
Static polymorphism ? 2v2(4)
by Ifi=1,j=4 and k = 0; then what is the effect of the
following expression on i, j and k :
i} k=i,
(i)
(i) j=j+++i;
(iv) k= j+++i 214(4)

1667/4,800/KD/265 3



5. (a) Define Process and its different states. 2(4)
(b) Differentiate between Pre-emptive and Non-Pre-emptive

techniques of CPU scheduling. 34
UNIT-II1
6. Explain various Page replacement technigues. 5(8)

7. (a) Explain the role of Semaphores in critical section

problem. 3(4)
{b) Explain the concept of Virtual Memory. 2(4)
UNIT-1V
8. Explain various File organization techniques. 5(8)
9. Explain various Disk scheduling techniques. 5(8)
1668/4,800/KD/266 2

Roll No. . Total Pages : 2

GSM/M-16 1668

COMPUTER SCIENCE
{Operating System)
Paper-11

B.A. .25

[Maximum Marks
B.Sc. 40

Time : Three Hours]

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select one question from each unit.

Compulsory Question

1. (a) What is System Call ? 1(2)

(b) Define Thrashing. 1{(2)

(c) Whatis PCB ? 1(2)

(d) What are the various File access methods ? 2(2)
UNIT-1

2. Explain historical evolution of Operating system. 5(8)

3. (a) What are the various components of Operating
system ? 2(4)
(b} Explain Time sharing operating system. 3(4)

UNIT-II
4. (a) Explain various deadlock detection techniques ? 2(4)
(b) What is Deadlock avoidance and its methods 7  3(4)
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UNIT-II
4.  What is XML ? Discuss its features. Explain XML support
and its usage. g

5. (a) Write the structure of XML.
(b) Discuss the use of colour and background using XML. 8

UNIT-II1
6. Explain Control structures of Java script with example. 8

7. (a) Explain Built-in functions and User-Defined functions
in Java script.
(b) Discuss Forms in Java script. 8

UNIT-IV
8. Explain Event and Exception handling in Java script using
example. 8

9.  Write notes on the following :
{a) Java Server Pages.

(b) Built-in object in Java script. 8

1669/550/KD/268 2

Roll No. . Total Pages : 2

GSM/M-16 1669

COMPUTER APPLICATION
(Web Designing Using Advanced Tools)
Paper-1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question
1. (a) Write Tags associated with adding Links and Sound
in CSS.
(b) What is flow-object in XML ?
(¢} Write Relational operators in Java script.
(d) Discuss rules to write variables in Java script.

(2x4=8)
UNIT-I
2.  What is CSS ? What are common tasks that are associated
with CSS ? Explain its usage in Web-Page Design. 3
3. Explain using CSS :
(i) Managing Tables.
(i) Managing Image.
(iii) Managing Links.
(iv) Use of Marquee. 8
1669/5650/KD/268 [PTO.
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GSM/M-16 1670

COMPUTER APPLICATION
(Programming in Visual Basic)
Paper-II

Time : Three Hours] [Maximum Marks : 40
Note ; Attempt five questions in all. Attempt one question from
cach unit including Question. Q. No. 1 which is

compulsory. All guestions carry equal marks.

Compulsory Question
1. (a) What are the modes in which VB application

works ? 2
(b) Define the purpose and use of Exit statement
in VB. | 1
(¢) Why VB is called as Event driven programming
language? 2
(d) How many types of combo boxes are there in VB 7
How can you select a particular one ? 2
UNIT-1
2. Differentiate between the following :
(a) Textbox vs. Listbox vs. Combobox. 3
(b) Imagebox vs. Picturebox. 3
(¢) Checkbox vs. Option button. 2

1670/550/KD/269 [PT.O.
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N

ta) Define the structure of Visual basic project. Explain
the steps of developing VB application/project. 4
(b) Create an application in VB to design a simple
Notepad. 4

UNIT-II
Define Variable. How variables are declared in VB ? What
is the scope and lifetime of a variable ? Explain by giving

proper examples. 8

What are the various Input-Output functions available in

VB ? Explain each with their syntax and examples. 8

UNIT-III
(a) What is the purpose of Select-Case statement ?
Where it should be used ? Explain all forms of
Select-Case statement. 4
(b) Write an application in VB to find the largest of three

numbers. 4

(a) Define Array. What are the various types of array ?
Explain the concept of arrays of array. 4
(b) How Static array is different from Dynamic arrays ?

What is the usage of dynamic arrays ? Explain. 4

1670/550/KD/269 2

UNIT-1V
8 (a) Define Function. What are the various types of
arguments used in a function ? Give suitable examples
for each. 4
(b) What do you mean by Parameter passing techniques
in procedures and functions ? Explain Call by value
and Call by reference techniques using simple
program., 4
9. Define Procedure. How general procedure differs from event
procedure ? Write a program which includes both general
as well as event procedure. 8
1670/550/KD/268 3
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5. Discuss the different factors affecting Recombinant protein

roduction. How th tein yiel i ?
p ow the protein yield can be increased 7 8 GSM/M-16 H.Qq u
6. Write short notes on the following : E.OHmOIZOrOQam
(a) Automated DNA sequencing. (Recombinant DNA. Technology)
(b) Site directed mutagenesis. (2x4=8) Paper-VIIl
Time : Three Hours] [Maximum Zﬁwm : 40

7. What is PCR ? Discuss the principles and applications of

PCR technology. 8 Note : Attempt Q. No. 1 and four others selecting two questions

from each unit.

Compulsory Question
1. Describe briefly :
(a) Shuttle vector.
(b) Dot blot.

(¢) RAPD.
(d) Tissue Specific Promotor. (4x2=8)
UNIT-1
2. What are the characteristics of an ideal vector ? Discuss the
different types of vectors. 8

3. Differentiate between the following :
(a) Genomic and cDNA Library.
(b) Type-l and Type-I R.E. (2x4=8)

4. Write short notes on the following :
(a) DNA modifying enzymes.
(b) Immunological screening. (2x4=8)
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3. Write notes on the following :
(a) File Format,

(b) NCBI Model. (4+4)

4. Define Genome and Proteome. (4+4)
UNIT-1I

5. (a) Name any two database searching tools. 2

(b) Write detailed account on one of the searching tool. 6

6. (a) Write a note on PDB. 4
(b) Name methods of predicting Protein sequence. 4

7. Differentiate between Local and Global sequence alignment.
8

1674/1,300/KD/272 2

Roll No. Total Pages : 2
GSM/M-16 1674
BIOTECHNOLOGY
(Bioinformatics)
Paper—IX
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No.1 is compulsory.
Select two questions from each unit. All questions carry
equal marks.

Compulsory Question

1. Give full forms of the following :

(a)
(b)
(c)
(d)
(e)
()
(&)
(h)

2. (@
(b)

EMBL

FDB

RNA

NCBI

NIH

PIR

BLAST

WWW. (1x8=8)

UNIT-1
What are Biological Databases ? 5

Give one example each of Primary, Secondary and
Specialised databases. 3
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GSM/M-16 1687
HINDI
(Compulsory)
Time : Three Hours] [Maximum Marks : 40
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2.

3
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(i)  Virus (i)  Sublimation
(iii) Remainder theorem (iv) Radiation
(v)  Projectile (vi) Phenomenon

(vit) Pesticides (viii) Nutriti

(ix) Membrane (x)  Intest

(xi) Inertia (xi1} Ignition

(xiti) Vibration (x1v) Spectrum

(xv) Reflection (xvi) Plasm 5
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GSM/M-16 1689

SANSKRIT (Compulsory)

Time : Three Hours] [Maximum Marks : 40
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faveng g gfgremmomata

(W) dihar 94w ST e
e 99 7 fomd 7 sata it (2x4=8)
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3. Frafefaas & @ fret @ =1 wened wifwm 5. (%) fafafem o & et w37 ofy #ifg .
(%) e TR argem T et M TR+
i LR T e W o
. (iii + ZET:1
HRI- A - e 7 ety s 19 Hfagam: c<w Rt
ETHRRI esTwer=atee aferamssa o= & T + A
AR, T (Vi) W + &I
(@) FRgafrfaER Sems: a7 g9-F fEga) (vii) T9 + S|
FITax, Areawd s wfverhrmas aoa (viii) ¥ + T (1x4=4)
YTV WA G| T TR TS, JEBAIS R (@) fefafas 4 9 5 ar = afusz ifm .
W I TG A, Tgafed qoavic (i) TR
e T F vl v Teag s () Fsfal
() T 7w (i) TR
T fouiefa drewrg Wymmfed gom) RSN
(%) JehTSHT Afeatan Mmy MMM__
TENHOUE H3R: Tod 0| (2x4=8) (i) ST s
(viii)y & THI (I1x4=4)

4. Frfafas 4 @ 5= & ugell 3 qorfife w0 § w9
fafeT .
() ™ (T dFR)
(@) T (¥g, F*R)
(M) 39 (= T*R)
(¥) 93 (I &) | (2x4=8)
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UNIT-II
4. Explain various methods of representing graphs in
memory. 16
5. Explain Warshall’s algorithm for shortest path. 16
UNIT-III
6. Write short notes on the following :
(a) Merge sort.
(b) Radix sort. 16
7. What do you mean by Sorting ? Explain Internal and
External sorting, and compare various sorting and searching
algorithms in terms of their complexity. 16
UNIT-IV
8. What do you mean by File organization ? Explain its
various types. 16
9. What is Hashing ? Explain the various methods of collision
resolution. 16
1698/2,800/KD/283 2

Time : Three Hours]

Total Pages : 2

1698

BCA/M-16

ADVANCED DATA STRUCTURES
Paper : BCA-241

{Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

1.

3.

Select one question from each unit.

Compulsory Question
(i)  Define Complete Binary Tree.
(i) Define External and Internal path length.
(ii) What are the various Tree traversal algorithms ?
(iv) What are the various Sorting algorithms ?
(v) Define File and its attributes.
(vi) Define the various File operations.
(vii) What is the purpose of Dijkstra’s algorithm ?
(viii) What is Graph ? 16

UNIT-I
Write short notes on the following :
(a) Binary Search Tree.
(b) General Tree. 16

Explain Huffman’s algorithm alongwith its implementation.
16

1698/2,800/KD/283 [PT.O.



UNIT-II
What is Type conversion function ? How is it created ?
Write a program in C++ language to convert a class X with
class Y using (i) Constructor, and (ii) Type conversion
function. 16

What do you understand by visibility modes in class
derivations ? What are the rules of derivations in these
modes ? Explain with the help of an example.

UNIT-11I
(a) What do you mean by Multipath inheritance ? Write a
program in C++ to implement it. 10
(b} Discuss the role of Constructor in Inheritance. 6

(a) Explain the concept of Function template. Write a
function template to swap two data type integers and

floats using a template. 8
(b) Write a program of your choice to overload a template
function. 8
UNIT-1V
(a) What is Exception ? 2
(b) Explain the following using example :
(1) Catch all exceptions. 7
(i)  Rethrowing an exception. 7

(a) Differentiate between Binary and Text files. What are

the advantages of binary files over text files ? 6
(b) What do you mean by File pointers ? Explain different
types of file pointers, 10

1699/2,800/KD/284 2
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1699

BCA/M-16

ADVANCED PROGRAMMING USING C++
Paper : BCA-242

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select one question from each unit.

Compulsory Question

1. (i) Define Abstract base class. 4
(i) Explain the importance of Inheritance. 2
(ifi) Describe the working of destructors in Inheritance. 2
(iv) What do you mean by Class template instantiation ? 4
(v) Explain the syntactic rules for (i) read() (ii) write(}
function. 4

UNIT-1
2. Distinguish between Virtual functions and Pure virtual
functions. When do we make virtual function pure ?
What are the implications of making a function pure virtual
function ? Explain with example. 16
3. (a) Can we make a destructor virtual ? What purpose a
virtual destructor will serve ? Explain with example.
10
(b) Explain the concept of Function overriding with
example. 6
1699/2,800/KD/284 [PT.O.
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BCA/M-16 1700

E-COMMERCE
Paper : BCA-243

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in ail. Q. No. 1 is compulsory. Select

(b)
(c}
(d)
(e)
(f)
(g)
(h)

2. (a)

(b)

one question from each unit. A}l questions carry equal
marks.

Compulsory Question

Distinguish between C2C and C2B.

What is Immediate Payment Service (IMPS) ?

Types of Online Frauds.

EDI vs. Paper Based System.

Intranet.

URL Blocking.

Online Advertising.

Public Key Cryptography. (Bx2=16)

UNIT-I

Discuss the E-Commerce practices vs. Traditional
Practices.

Describe the various Indian Payment Models.
(2x8=16)

1700/2,800/KD/222 [P.T.O.



3. (a) What are Smart Cards? Explain the various categories
of Smart Cards.
(b) What is the need of security in E-Commerce? Explain.
(2x8=16)
UNIT-II
4. (a) Describe the various uses of EDI in daily life with
examples.
(b} What is G2C E-Commerce? Write down the applications
of G2C. (2x8=16)
5. (a) How will Private sector interface in E-Governance be
successful? What are the objectives of Private sector
interface in E-Government?
(b) Explain Comparative analysis model by using an
example. (2x8=16)
UNIT-III
6. (a) Whatis the role of E-Broker in business? Explain Broker
based Online Services.
(b) Describe Real Estate Market and its applications.
(2x8=16)
7. (a) What are the various products in B2C Model?
(b) What are E-Auctions? What are its benefits and impacts
on sellers and customers? (2x8=16)
1700/2,800/KD/222 2

8.

UNIT-1IV

(a) Describe various Key Technologies for B2B
E-Commerce in detail.

{b) Write various Marketing Issues in B2B. {(2x8=16)

Write short notes on the following :

(a) E-Commerce Scenario in India.

(by Advantages of E-Retailing.

(¢) Hardware and Software Requirements for Internet.

(d) Firewalls. (4x4=16)

1700/2,800/KD/222 3



UNIT-II

4. Explain with example :

{a)
(b)
(c)
(d)

Functional dependency.
Full Functional dependency.
Transitive dependency.
Multivalued dependency.

5. Explain INF, 2NF and 3NF using suitable example.

6. (a)
{b)

UNIT-III
Explain basic data types in SQL.
What i1s a View ? Explain CREATE VIEW command
using example.

7. Given the following relation schema :
EMP (ENO, ENAME, AGE, BASIC) Work_IN (ENO, DNO)
Write SQL queries for the following :

(a)

(b)
()

(d)

8. (a

(b)

Find the employees whose basic pay is between 6000
and 9000.

Find the employees working in Deptt. No. 15.
Display all employees according to ascending order
of Age.

Find the maxmium basic pay in EMP table.

UNIT-IV
Write a PL/SQL code to find the factorial of a given
number,
Explain IF-THEN-ELSIF statement using example.

9. Explain Implicit and Explicit cursors using examples. Also,

explain various attributes of these cursors.

1701/2,800/KD/285 2
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BCA/M-16 1701

RELATIONAL DATABASE MANAGEMENT SYSTEM
Paper : BCA-244

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is compulsory.
Select one question from each unit. All questions carry
equal marks.

Compulsory Question
1. (a) Distinguish between Primary and Secondary key.

(b) Distinguish between Relational Algebra and Relational
Calculus.

{c) What are the advantages of Normalization ?

(d) What are the limitations of SQL ?

UNIT-I

2. Explain the various relational constraints using examples.

3. Explain Domain-oriented relational calculus using suitable
examples.

1701,2,800/KD/285 [PTO.



7. (a) State and prove Baye's theorem on Probability. 8
(b) The profit of certain company in the 6th year of its life
are given by
x I 2 3 4 5
y 1 1250 1400 1650 1956 2300
Fit a Parabolic curve using method of least squares. 8

UNIT-1V
8. (a) Write short notes on each of the following :
(i) Parametric and Non-parametric tests.
(i)  Chi-square distribution. 8
(b) In 324 throws of a die, odd numbers appeared 181
times. Would you say that die is fair ? State carefully
the property on which you base your calculation. 8

9. Three different machines are used for the production.
On the basis of the output, test whether the machines are
equally effective or not. 16

Output of Machine

I i 111
10 9 20
5 7 16
11 5 10
10 6 14

[Given : Value of F at 5% level of significance with degrees
of freedom 2 and 9 = 4.26]

1702/2,800/KD/286 4

Total Pages : 4

BCA/M-16 1702

COMPUTER ORIENTED STATISTICAL METHODS
Paper : BCA-245

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each unit.

Compulsory Question

1. (a) Define Median.

(b) What is the relation between S.D. and Variance ?

4
(¢) If Regression coefficient of Y on X is 3 and X on'Y
is %oﬂ find the Correlation coefficient between
X and Y.

(d) Find Binomial distribution whose mean is 3 and

variance is 2.
(e) Describe T-test single mean.
() What is Scattered diagram ?
(g) State the basic assumption in ANOVA,

(h) State Cochran’s theorem. 16
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UNIT-1
2. (a) The mean wages of 1000 workers in a paper mill
running two shifts of 600 and 400 workers is Rs. 1000.
The mean wages of 600 workers in the Ist shift is
Rs. 900. Find the mean wages of workers working in
the 1Ind shift. 8
(b) If x and y are two positive numbers then prove that
AM.>GM. >HM. 8
3. (a) Find the missing frequencies in the following distribution
if N = 74 and median of the distribution is 36: 8
Marks No. of Students

0-10 2

10 — 20 8

20 - 30 ?

30 - 40 20

40 - 50 12

50 - 60 ?

60 - 70 4

70 — 80 3
{b) The A.M. and S.D. of 100 items was recorded as
40 and 5.1 respectively. Later on it was discovered that
one observation 40 was wrongly copied down as 50.
Find the correct S.D. 8

1702/2,800/KD/286 2

4., (a)

(b)

(b)

6. (a)

(b)

1702/2,800/KD/286 3

UNIT-II
The sum of mean and variance of Binomial distribution
is 15 and the sum of their squares is 117. Find the
distribution. 8

2000 students appeared in an examination. Distribution
of marks is assumed to be normal with mean = 30 and
S.D. = 6.25. How many students are expected to get
marks between 20 and 40 ? 8

It is given that 2% of screws manufactured by a
company are defective. Use Poisson distribution to
find the probability that a packet of 100 screws contains
(i) no defective screw, and (ii) one defective screw.
[Given e = 0.14]. 8
Find the Coefficient of correlation between X and Y
for the following data : 8
X: 65 66 67 68 69 70 71

Y : 67 68 66 69 72 72 69

UNIT-III
4x — 2y =3 and 2x - 3y = 5 are two lines of regression.
Find
1) Regression coefficients Fo_ and Fﬁ.
(i)  Correlation coefficient between x and y.
(iliy Estimate y when x = 3. 8

Write the difference between Correlation and
Regression. 8

[PT.O.



UNIT-H
4. What is the purpose of Decision-making ? Discuss Simson's
model of Decision-making. (16)

5. (a) What do you mean by MIS ? Briefly discuss its

components.
(b) Briefly discuss the different levels of Management in
an organization. (8x2=16)

UNIT-III
6. What do you mean by System implementation ? Briefly
describe various types of implementations giving advantages
and disadvantages of each. (16)

7. (a) Why is evaluation of MIS important ? Briefly describe
two approaches of evaluation in MIS.

(b) What do you mean by Cost/Benefit analysis ? What is

its importance ? (8x2=16)

UNIT-1IV
8. (a) Distinguish between E-commerce and E-business. (5)
(b) Write short notes on the following :
(i) B2B. 3
(i) B2C. 3)
(¢) Briefly describe few applications of E-commerce. (5)

9. (a) Discuss the relevance and role of MIS in various phases
of Decision-making.
(b) Briefly describe components of DSS. (8x2=16)

1703/2,800/KD/287 2
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BCA/M-16 1703

MANAGEMENT INFORMATION SYSTEM
Paper : BCA-246

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Attempt one question from
each unit in addition to compulsory Question No. 1.

Compulsory Question
1. Write short notes on the following :
{a) Coupling.
(by Black box.
(cy DFD.
{d) Interface.
(ey EDP
(f) E-business. (16)

UNIT-
2. (a) What do you mean by Information System ? Why we
need it ? Distinguish between TPS and DSS.

(b) Briefly discuss the concept of Boundary, Subsystem
and Feedback. (8x2=16)

3. (a) Briefly describe characteristics and capabilities of DSS.
(b) Discuss the various types of Information. Elaborate on

their uses. (8x2=16)

1703/2,800/KD/287 [PTO.
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BCAR/M-16 1704

WEB DESIGNING -1
Paper : BCA-241

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select one question from each unit.

Compulsory Question
(i) How is a Comment shown in HTML ?
(i) Define Web hosting. What are its types ?
(iii) What is Submit and Reset button ?
(iv) Who should maintain a Web Server ?
(v) What are popular Search engines ?
(vi) List the functions of HTTPd.
(vii) Define Search engine. 16

UNIT-1
(a) Explain the various services of Internet in brief. 8
(b) Explain the evolution and history of World Wide Web.
8

Write short notes on the following :

(i) IP Address.

(i) Web Servers.

(iii) Search Engines. 16
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UNIT-1I
(a) Explain ISP alongwith its features and their role in
Internet. 8
(b) What are the important guidelines for creating a
website ? 8

Define Home page. What should be the features in a well-
designed home page ? 16

UNIT-I1I
Explain the steps to create links in a website. 16

(a) Explain Text formatting, Text structuring and Text
styles. 8
(b) Why do we need DHTML features in a page ? 8

UNIT-1V
Explain the purpose of Radio button and Check boxes
alongwith an example. 16

Write short notes on the following .
(i) Ordered and Unordered List.

(i1) Frames Creation. 16

1704/1,200/KD/288 2
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BCAR/M-16 1705

DATA STRUCTURE - 1
Paper : BCA-242

Time : Three Hours] [Maximum Marks : 80

Note : (i) Attempt five questions in all.
(i) Question No. 1 is compulsory.
(iii) Select one question from each unit.

(iv) All questions carry equal marks.

Compulsory Question
1. (a) Define the following terms:
(i) General Tree.
(i)  External Path Length.
(itn) Internal Path Length.
(iv) Weighted Path Length. {(2x4=8)
(b) A node having degree zero is called ......... node. 1
(c) What is Regular graph ? Draw 2 regular graphs. 2V2

(d} What is Average case, Best case and Worst case
complexity of Merge-Sort algorithm ? Vs

(e) What is the difference between File restructuring and
reorganisation ? 2
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UNIT-I
(a) Describe AVL tree. Make AVL tree using the following
elements in order : 8

2 6 9 14 12 16 10 1 8 4
(b) Explain how insertion operation is performed in AVL

search tree with suitable example. 8

(a) Explain the concept of Multi-way tree. 8

(b) Explain Searching, Insertion and Deletion operation in

m-way search tree, 3
UNIT-11

Define Graph with all its types. Explain the various

operations performed on graphs by taking suitable examples
for each. 16

Define Path Matrix. Write Warshall's algorithm to calculate
shortest path and apply it on the following graph : 16

UNIT-11
Sort the following list of numbers using Quicksort algorithm :
42, 73, 25, 45, 55, 14, 66, 38, 75.

Also explain the complexity of quicksort algorithm. 16

1705/1,200/KD/289 2

7. Write down the Heapsort algorithm and its complexity.

Explain it by taking suitable example. 16
UNIT-1V

8. Compare the three file organisation techniques on the basis
of their merits and demerits. Where each of them is
applicable 7 Explain. 16

9, Write short notes on the following .
(iy Coliision Resolution Techniques. 3
(i) Types of File. 8

1705/1,200/KD/289 3
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BCAR/M-16 1707

RELATIONAL DATABASE
MANAGEMENT SYSTEMS
Paper : BCA-244

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit. All questions carry
equal marks.

Compulsory Question
1. (a) What is Entity and Attribute ?
(b) Differentiate between Primary key and Unique key.
(c) What are Transitive functional dependencies ?
(d) Define DROP and ALTER command in SQL.
(e) What is Data independence ?
(f) Define %ISOPEN and %ROWCOUNT attributes in
PL/SQL. 3

W W W N

UNIT-1
2. Differentiate between the following terms :
(a) Natural join and Equi-join.
(b) Outer join and Inner join.
(c) Tuple relational calculus and Domain relational
calculus.
(d) Universal quantifier and Existential quantifier. 16

1707/1,200/KD/291 [PTO.



3. (a) Discuss the various relational algebra operations with
suitable examples. 8
(b) Define Primary, Foreign, Candidate and Super keys
with example. 8
UNIT-II
4. (a) Discuss Insertion, Deletion and Modification anomalies.
Why are they considered bad ? Illustrate with examples.
8
(b) Why should NULLs in a relation be avoided as far as
possible ? Explain the problem of spurious tuples and
how we may prevent it. 8
5. (a) What is Functional dependency ? What are the possible
sources of information that defines the functional
dependencies that hold among the attributes of a relation
schema ? 8
(b) What is Normalization ? Explain First, Second, Third
and Boyce Codd's normal forms with suitable
examples. 8
UNIT-111
6. Consider the following relation schemas : 16
STUDENT (rolino, name, age, city) where rollno is the
Primary Key.
STUDENT_RESULT (rollno, marks_obtained_subject],
marks_obtained_subject?2, marks_obtained_subject3,
total_marks_obtained, percentage)
And write SQL queries to
(a) Calculate and store total_marks_obtained and
percentage of marks of all students.
1707/1,200/KD/291 2

(b)

(c)

(d)

(a)
(b)

(a)

(b)

(a)

(b)

Display rollno and name of those students who have
obtained more than 75 marks in subject2.

Display rollno, name and age of those students who
have obtained more than 90% marks.

Display rollno, name of students who are living in city
'Delhi' and have obtained percentage of marks between
60 and 75.

Define DDL, DML and DCL. 8

Write short notes on the following SQL statements :

i) Create.

(i) Update.

(iii) Grant.

(iv) rollback. 8
UNIT-1IV

What is Cursor ? Explain different types of cursors in

PL/SQL. 8

What are the advantages of PL/SQL ? 8

What is Control structure ? Discuss Iterative control
structure statements used in PL/SQL. 8
What is PL/SQL execution environment ? Explain. 8

1707/1,200/KD/291 3



UNIT-IV
8. (a) Prove that

B(m, m) = 27" B m, .S

(b) Prove that

ni2 D + 1
._. log COS O COS X) _

1.2 2
cOs x MQ_" a’)  (8.8)

2

9. (a) A sphere of radius k, passes through the origin
and meets the axes in A, B, C. Prove that the
centroid of the triangle ABC lies on the sphere
9(x2 + y? + ) = 4k2.

(b) Find the equation of the cone with vertex (1, 1, 1)
and passing through the curve of intersection

2+ +=landx+y+z=1 {8,8)

1709/1,200/KD/293 4

Roll No. .ccrreiniaene Total Pages : 4

BCAR/M-16 1709

MATHEMATICAL FOUNDATION -1V
Paper : BCA-246
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question
1. (a) If x = rcos 8 and y = rsin6, prove that

ax? * |ox oy
n/2
by If u,= ‘— x"sin x dx, n > 1, show that
d
n—1
n

u,+ n(n—Du, ,=n 3

(¢c) Find the Jacobian of u, v, w with respect to x, y, 2 when
x+y+z=uy+z=uvandz=uw.

(d) Prove that
Jr

o
Jera=2 (4,4,4,49)

1709/1,200/KD/293 [PT.O.



2 2
2442 5. (a) Show thatin an ellipse, mw. + N.Nu = 1, the perimeter is
2. (@ If u=tan! Y show that @ b
X+y
o ou 1 1 23 1235
X— 4+ '.I”.lmznwt. N —lliNl. - - . - O.....D.D.
ox e& 2™ m 2 T g 2426 ¢
(b) Ifz=£x y)and xr = ¢ + €,y =e¥— ¢, prove that
% % x % (b} Find the length of the complete cycloid by
.mﬂlw_\.nawxﬂl .wﬂ (8,8) x = a(® + sin 9)
¥y =a(l + cos 9). (8,8)
3. (a) Examine the function
UNIT-III
fr =2+ - 63x +y) + 129
. . 6. (a) Find the area common to the parabola y? = 4ax
for maxima and minima,
and x? = 4ay.

(b) Find the minimum value of the function x* + 2 4 22 .
(b) Show that the area of the region included between the

subject to the condition x + ¥+ z=3a (8,8) .
cardioids r = a(l + cos 0) and r = a(l - cos 9) is
2
UNIT-II —-(3n-8) (8.8)
4. (a) Prove that
n
._. sin® W cos? Wmm _ M_% 7. (a) Evaluate
0 2 _. .ﬁ x2y? dxdy
(b) Obtain a reduction formula for ._. <" , and find . P4yl
1/3
?«w Y (b) Evaluate
the value of ,_. B33 g (8,8)

.: (2°+2) dxdydz

2yl (8.8)
1709/1,200/KD/293 2 1709/1,200/KD/293 3 [PTO.
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GSM/M-16 1710

APPLIED AND COMMUNITY NUTRITION
(Course — 211}

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select tweo questions from each unit. All questions carry
equal marks.

A2 : T O v F TR AU T e 1 aFEE ?)
s T ¥ ¥ R @ v e St st owee
% 3fF AR B

Compulsory Question
(arframd W)
1. Describe the following :
frafafas =t =men =i .
(a) Advantages of Dietary survey.
IERE W & @
(b) Xerophthalmia.
SR
(¢c) Preservation by Canning.
feses SRR HEw
(d) Food spoilage. (24242+42)
HER HT @UE
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UNIT-I (3&-I)

Explain different Dietary survey methods in detail. 8

SR wEav %) fafv= fatus = fam @ 9= w53

Explain the causes, symptoms and prevention of Anaemia.
8

S ® FHO, AN AR T9E # I w ave Fw

What are Micro-organisms ? Enlist the various harmful effects
of micro-organisms and how to prevent them. 8

el 7= w0 ¥ geifat ® et ywE g
T de ITH HY T W GFA L, TR

(a) Write the causes and symptoms of PEM.
Y Fell HUWO F SR § T e

(b) Write the advantages and disadvantages of Anthro-
pometric measurements. (543)

Anthropometric measurements ¥ =9 F Tfal g

UNIT-II (3h1E-1I)

What is Food spoilage ? Describe the various causes of
food spoilage with suitable example and the ways to prevent
the spoilage. 8

AR F1 @UF &A1 0 &7 SR 09 39 F fafa= sron
T 3TN Tfeq TaTd T FER F W@ TA W FER B
Iz fag|

1710/250/KD/294 2

What is Food preservation ? Describe the various principles
of food preservation with suitable example. 8

MR WU = B? MR wEm 3 fafa=m fagrl @
I afed guEREy)

Explain the Adulterants. Write their harmful effects for the
following foods :
Cereals, Pulse, Milk, Ghee and Spices. 8

faemae = Ywemu = @@ el © fooee # sferE
ﬂﬁ.ﬂmﬂ.@.@.u
3, T, gY, St dn wEe

(a) Describe the role of Agmark in maintaining the
standards of food.

&ﬂﬂmwuﬂumw_._m—ﬁjmkpmamnwmw%ﬂﬁ
T H|

(b) Discuss the imporntance of Food preservation. (5+3)
FER |0 & HET & A F
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GSM/M-16 1711

HOME SCIENCE
(Apparel Designing and Selection)
{Course — 212)

Time : Three Hours] ‘ [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attmept two questions each from Unit-I and Unit-11. All
questions carry equal marks.

A : %&.ﬂﬂ&%mﬂ&@m;ﬂﬂ@:ﬁﬂmﬂ?
mﬂ@-Hmﬁmﬂa;:m@uﬂﬂmﬁm@&ﬂ&%ﬁA
Hfny Tt v R F TH-THA B

Compulsory Question
(@ we)

1. Explain any four :
(a) Tailormade garments.
(b) Renovation.
(¢) Dimension of Collar.
(d) Shape analysis.
(e) Harmony. (4%2=8)
frel W W W HiWY:
(s ==t g faffE 9o
(F) TEF (T
(/) ®ew =1 famm
(2) ®q faverwon
() TS

1711/250/KD/302/Trans. [PTO.



UNIT-I (F&TE-1)

Explain the meaning and importance of Clothing in detail. 8

T ® g 9 Hew ¥ faeRgEE o S

Discuss in detail about care of Clothing. 8

T H G ® IR H frar § fadem i

What are the various factors that should be considered for
the selection of clothing for children ? 8

T & T o #  w R T em W@ e A
fafi= s 71 ¥

Which type of clothing requirements are suitable for heavy
adult female, and why. 8

T TaeE Afgen F fou fFR TeR w1 veaR ged
STaeIHal IUF T €2 FWW A wawEy

UNIT-I (3&TE-1I)
What are the various principles of design in relation to
clothing ? Write in detail. 8

T A wafyg fem @ fafas foge =0 37 few 9
I HIfHT)

Write in detail about colour in relation to clothing. 8

T H HAY T W AN F fwr § e

1711/250/KD/302 2

8. Whart is Texture analysis ? Write its uses in relation to
figure and occasion. 8
T4 faversm @ 1 A 27 SRy g oI ® wWay o
% I qARW

9. How the use of proper lines in dress can improve the
personality of a person ? 8
29 ° & F1 qE s SfEe % =fEs 3 Y TR
fram g%a 2, T= Hif

1711/250/KD/302 3
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GSM/M-16 1712

CHILDHOOD AND ADOLESCENT DEVELOPMENT
(Course — 213)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Select fwo questions each

A :

from Unit-I and Unit-1L Question No. 9 (Unit-111) 1s
compulsory. All guestions carry equal marks.

mﬂiﬂﬂ&%mﬂ&g_mﬂfaﬁmﬂm&m@
ﬂﬂmﬂm@&iﬁmﬂ%ﬂnﬂﬁdﬁ@
(zed.qn) SfEr 2 ooft we ® ofF |uA F

UNIT-1 (3&TE-1)
Define Motor development. Explain the major milestones of
infancy and pre-school years. 8

o fae® w1 aRers ¥ e 3R gd-rseen
ﬁmﬁaﬂm@mﬂ@&ﬂmﬁﬂ_

Describe the milestones of Emotional development in
childhood. Discuss basic reaction of joy and anger. 8

mﬂﬂﬂm%@ﬂaﬂgﬁ%ﬂwﬂdﬂg_
el il et whifEm = faeET A

Explain Kohlberg’s stages of Moral development. 8
e ® A faer ® owRensl w1 AU

1712/250/KD/295 [PTO.



Write notes on the following :

o1 = e foe .

(i) Formal operations stage of Cognitive development. 4
A e w wioe sfRem stEem)

(i) Sensory motor stage of Cognitive development. 4

A faam 9 S0 Hex s

UNIT-II (3FTE-ID)

Discuss language as a form of communication. How it begins
in the infants ? 8

E@dﬂﬂ@gﬂﬂﬁﬂﬁﬂﬁﬂwm&%mﬁﬂ
e By T & 2

Explain the meaning, importance and theories of play. 8

T % o, wew v fagra w5 v o

Describe the meaning, causes and remedies to solve the
problem of Bed wetting and Thumb sucking, 8

forer Thie = iR srler e T wwenst @ @ wwor
%gmmﬁi%%ﬁﬁﬁi_

Whether socialization is necessary for the growth of the
child and community ? Discuss. 8

N qTH AR WS & fawm ® A e st
&7 fd= Fifw

1712/250/KD/295 2

9.

Compulsory Question
(otfard wy)
Explain any eight in 2 to 3 lines :
frsi ome =1 2 @ 3 @ ° TR W
() Sadness.
ERE
(ii) Fear.
ELY
(iii) Indoor games.
IRE T
(iv) Temper tantrums.
HH T
(v) Telegraphic speech.
T9F  HER
(vi) Concrete operation,
Eacacalic ety |
(vil) Pre-speech communication.
-9 GER|
(viii) Values of play.
e # Ay
(ix) Puberty.
JrFR|
(x) Adolescent.

feFeRTEEen

1712/250/KD/295 3

(8x1=8)



(vi) Available resources are very important before Roll No. e, Total Pages : 4
planning a budget.

T T ¥ YEd ITH YA F R § TEER GSM/M-16 1713
A TE B FAMILY RESOURCE MANAGEMENT

(vii) Capability to work makes the work easy. (Course No. 214)
Fd w1 F1 AEA BN W FIW FEE 7 I

(viii) Psychic income can be measured. Time : Three Hours] [Maximum Marks : 40

Mfes ST HT AW S g B
Note : Attempt five questions in all. Select rwo questions each

from Unit-I and II. Question No. 9 (Unit-III) is
compulsory. All questions carry equal marks.

AT : F{F Ul WA B IR GG TFEET e R F R
TEF THE 9 O Y % 999 #ifdw §eH w9
(zFR-IN) st 21 vl vl & oi% muA §)

UNIT-I (FahrE-1)
1. What is the importance of Control of time plan in the family?
Explain. 8

T fEm ¥ 9fEr § T 1w 27 fawR § wde

2. Explain different techniques of Work simplification. 8

FE T # fafes aiw w5 e w1

3. Explain the steps in Energy management in detail. 8

wie =qaee &t WEa $ ol w famr 9@ faE)
1713/250/KD/296 4 1713/250/KD/296 [PTO.



Write short notes on the following :

fafafes w sfaw feufmt fafen .

(a) Characteristics of Time plan. 4
Y Haen #1 favivan)
{b) Define Fatigue and its types. 4

UHM HT IR W B TEE WHEN TR

UNIT-II (Z=hiE-11)

Explain the term Budget and its various types. 8

TR V= H THE B A YER @ T % Wn
faear 9 o

What is Saving 7 Explain the objectives of savings in detail. 8

THG 1 27 99 & fafe Rvdl # R ° fran 9 sael

Who is Consumer ? Explain the factors affecting Consumer
decision. 8

IUERT W 2?7 SuNeEd ® fvim @ il @ T
FRE F T H TR ¥ w9z

Write short notes on the following :

frafafes w =g feofml fafee .

(a) Different types of Saving. 4
T9d & faf= wam

(b) Different Types of Expenditure. 4
few = fafas wr)
1713/250/KD/296 2

9.

UNIT-III (ZemE-101)
Compulsory Question ( 3fa™ uga)

(a) Fill in the blanks : 4
T ™ W
(i) After Heavy work, ........c........ work does not

cause fatigue.

T FH FH B T e, FH FE
¥ vFEe T w2

(i)  During Time management rest period is ..............
g =aeq ¥ fagm Fa @ faw g9
T W

(ili} Income received in the form of ...ocooovvenenn... is
called money income.

Fg 3™ W f&d @R o, # ®Y
4 fyedt 8, =@ 9w o™ mEd ¥

{iv) Estimation of expenditure according to income
is called .................

A F FER A T FE FOARMA M

(b) State True or False : 4
T ¥R e foet -
{v)  Rechecking of the plans for their success is very
important.
oot & fom memmen w1 qa: fadem
e B

1713/250/KD/296 3 [PTO.



Roll No. e Total Pages : 3

GSM/M-16 1714

COMMUNITY DEVELOPMENT AND
EXTENSION EDUCATION-II
(Course No. 215)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select rwo questions from each unit. All questions carry
equal marks.

dz . e utE T IW AR W wem 1 sk
YT THEE © & U & =95 e g e @ 9%
wuA 2

Compulsory Question
(frard wv
1. Answer the following in brief :
(i) What do you mean by Extension Education ?
(i) Differentiate between Leaflet and Pamphlet.
(i) Any one latest A.V. aid.
(iv) In which year Community Develpment Programme
was started in India ?
(v) Principle of 'Learning by doing' in Extension Education.
(vi) What is Organization ?
(vii) Impact of language of Extension worker in the field
situation.
(viii)Meaning of Programme planning. {1x8=8)

1714/250/KD/297 [PTO.



Frefafen # dfra 3w g

() fomnr faen 9 oM =0 gmEm ¥ 0

(i) w%dim (Leaflet) €& TFet2 (Pamphlet) § F1 31

7

(i) F¥ TH MYfeF s=1-399 anm)

a&ﬁamﬁaﬂ?ﬂwﬁﬂﬂﬁﬁ@ﬁﬁmﬁﬁ
g o1 ? _

(v) fo=m foran ¥ ‘w9 ok et #1 fog

(vi) T fad wed & 0

QEEQHQQﬂ_ﬁﬂﬂsﬂﬂaﬁmﬁﬁm
TS R 2

(viil) FEFA e &1 F s ¥ 0

UNIT-I (ZH1E-1)
What are the objectives of Community Development
Programme ? Discuss in detail. 8

EIF faFS FeET B o Ryw ¥ 0 famm @ avi
HIfT)

How can you prepare and use Non-Projected aids ? Describe
any three of them. 8

S 379 ¥ WA (Non-projected aids) 1 T qe
%@ma@ﬁﬁﬂwwﬂm@i%ﬂg
A Hifeg|

1714/250/KD/297 5

N

Explain any two Audio-visual aids which you think the
best in field situation regarding improvement of health

status. bt
TH @ #eg-3v gl w1 gviw #wifsw faw e
‘o e’ fawy 2 wEw ® wetow 9wed

Define Development. Describe the process of development. 8

‘faprm’ @t aftare Hifsw faw w5t e @ faega oA
Fifaa)

UNIT-II (3111
Discuss the meaning, concept and principles of Extension
Education. 8

T fnen & o1, sraumon wE fagal @ 9o wifeg)

What qualities an Extension education worker should possess
to become successful in his/her mission ? 8

3 A § e B ® foe we fowr fen weiwRal
¥ F-F 0 B AfE 7

How a home-scientist can be successful in the mission of
Community development ? 8

wiifas faww afim H T e $Y Fwe W
g & 7

Explain the different steps of Programme planning, 8

FFq fraem @ fafi= =on =1 fawga ao= =

1714/250/KD/297 3



Roll No. . Total Pages : 3

GSM/M-16 1715

HOME SCIENCE
(Introductory Physics)
{Course No. 216)

Time : Three Hours] [Maximum Marks : 40

Note : Total five questions are to be attempted. Question No. 1
is compulsory. Four more questions are to be attempted,
selecting at least one question from each unit.

AT : HF U WA H IW A ¥ T | e 19w
R Y F o uew TEE ¥ FE-9-F0 UE T H

T HIfAT;
Compulsory Question
(fard w9
1. (a) A new earthen pot keeps water colder than the older
one. Why ? 2

(b} A rectangular block of metal, 10 cm by 5 cm by 2 cm,

has a mass of 400 grams. Calculate its density. 2
(¢) Define Force and Pressure, and also differentiate these. 2
(d) Distinguish between Heat and Temperature. 2

(%) & T fogdt & 1 #Y g 4 0 7 fed # w0
et e ®a 71w

(@) 91y  TF JAAOER E F A 10 WA x 5 FH
x 2 U #| THR TEHEM 400 TH R TUH SIS HI
T U

1715/250/KD/298 [PTO.



Roll No. e Total Pages : 7

Time :

Note :

GSM(12-13)/M-16 1749
HISTORY
[History of India (1858 to 1964 A.D.)]
Opt. (i)
Three Hours] [Maximum Marks : 80

Attempt five questions in all, selecting one question from
each section. Map question is compulsory but blind
candidates may not attempt the map question. In lieu of
the map question, they may attempt any question from
other sections. However, in case they wish to attempt
map question, the part relating to explanatory note will
carry full marks. Objective type question is compulsory.
IF WUE ¥ Uk WA A TU, | U T B IR
A1 wEfe wafam 9w siferd @ dfea gfedm o
T SIgH 75t Ft 97 ¥ A wF 9 W W g
T ARk F TR 9en W @ o e f oA 3=
=emed feolt & faw & [ osiw fru @ @y
IRAF W AtEr g

SECTION-I (@WUs-1)

1. How was the Indian National Congress founded ? Also throw
light on its early objectives. 10,6

UETE AV FOW W TG $F g o TR wrfivs
Teval W wHEw =)
1749/3,300/KD/323/Map of Undivided India [PT.O.



Discuss the factors that led to the birth and growth of

Extremism in Indian National Movement. Write its impact
also. 5,6,5

WRE ® TN e § SIER (RE ) ® W A
foFrg & S ® T w39 e o o)

Who were the Revolutionary nationalists ? Discuss their
aims, principles, methods and activities. 6,10

FFAE T B 9 ? s sRwdl, fagr, wHfaty
o wfafafesl & ==t St

SECTION-II (wvs-1I)
Give an account of the aims and programme of Non-Co-
operation Movement launched by Mahatma Gandhi. Why
did this movement fail ? 10,6

T T g Wy fRY TR w9Eam SReH ® Seedl
a1 FEFER & faaEm i) 98 AR T HEd @Y

Examine the revolutionary activities of Naujawan Bharat
Sabha and Hindustan Socialist Republican Association
(Army) under the leadership of Bhagat Singh. 16

i gz ® 47 § A 9 g e fegwe e
frrfera o w nfafafeEl ) e S

Examine the causes of the partition of India (1947). 16

g & e (1947 ) ® FRen Fi faesm wie)

1749/3,300/KD/323 2

7.

10.

1749/3,300/KD/323 3

SECTION-III (®UE-1II)

9.,6 a brief but critical account of the re-organisation of
Princely States of India. 16

W FT A Rard ® Tried w1 dfia W st
faarnr Gfsm

Describe the economic development of India during the
period of Jawaharlal Nehru's Premiership. 16

HAETAT 6€ $ TUHAS T § 9Rg & s fawm
w1 faaror e

Discuss the main principles of Jawaharlal Nehru's Foreign

ﬁo.:ow. What do you know about the Policy of Non-
Alignment adopted by Nehru ? 10,6

SaTEtee T2 ®t faew fifv ® gem fogra = ow= w0

A 2 ST TPl A Ay @ Fred ¥ o1 7
T #7

SECTION-IV (®Us-1V)

On Bm outline map of India, show the important centres
of Civil Disobedience Movement and also add an explanatory
note, 16

YA % @-UAE W AT sEe TR ¥ §WE
HEe T s PR iR e oy fafa)
OR (3teEn)

On the outline map of India, show the integration of Princely
States and also add an explanatory note. 16

T #F @At | Rt femd # wwiemm @ aws
TEwol A Sty T 3 sameTeT feoroh it fafeg)

[PTO.



SECTION-V (@U2-V)

11. «A) Answer any four very short answer type questions,

each question carries two marks.
(i) When was 'Arya Samaj founded and who was

its founder ?

(i) Who was the Viceroy of India at the time of the
foundation of Indian National Congress ?

(iiy Write down the names of any four leaders of

Moderates.
(iv) When did the Complete Independence Resolution
pass in Congress and who was the President of

Congress that time ?

(v)  When and where Hindustan Secialist Republican
Association was founded ?

(viy Who wrote the book, "The Indian Struggle' and
when did it publish ?

(vii) Who was the ruler of Kashmir in 1947 AD. ?

(viii) Write down the names of any fwo books which
were written by J.L. Nehru. (4x2=8)

ﬂaﬂmﬁdﬂﬂﬂ&m@%ﬂznﬁﬂ“ﬂﬂ

-2 HF

(i) %%ﬁ%ﬁﬁmﬁﬂ%%
FA g ?

(ii) ﬁﬂad&ﬂ%ﬁgﬂﬂ,ﬂaﬁﬁ%
qraETE wE 8 7

(iii) ﬂﬂ&jﬁmﬂiﬂzﬂﬁﬂw@@

(iv) ﬂﬂﬁﬁqﬂﬂ%mﬁﬂﬁmﬁ
S 30 OFm HG B Ty A A7

1749/3,300/KD/323 4

e B weifae fofea e o w5
IR F g e

'v1)  ‘The Indian Struggle’ 9% &% fro fa
iR 7T w9 yERm g o
(vii) 9 1947 % H FWHR w1 WHF B o 7
(viii) #.ﬂﬁd@w@mi%m.&ﬁ%ﬂﬂm@_
W\“cEEn choice questions. Choose the right answer
i i . .
Mﬂwwwww__ Controversy is related to which
(a) Lord John Lorance
(b)  Lord Lytton
(c) Lord Meyo
(d Lord Ripon.
{i1) Who declared Communal award ?
(a) Lord Irvine
{b) Ramsay MacDonald
{c) Lord Webel
{d) Attley.
il 'hi ;
(1i1) Mwmwmﬂoﬁ.v: year the Dowry Prohibition Act was
fa} In 1951 A.D.
(b) In 1958 A.D.
(¢} In 1955 A.D.
(d) 1In 1961 A.D.
(iv) &:5 was the Prime Minister of England at the
ttme of the Partition of India ?
(a) Churchill
(b) Attley
{c) MacDonald

(d) Lord George. (Ixd=4)

1749/3,300/KD/323 5 T
TO.



(i)

(iii)

(iv)

(%) 1951 % #
(@) 1958 & B
(m 1955 %
1961 % I
MH & faorom @ o R T W
a1 ?
(%) =fEa
(@) T
(M) HFETEE
(M @ S

1749/3,300/KD/323 6

1749/3,300/KD/323

(C) Make right matches between the following :

(1) Khilafat Movement

- 1922 AD.
(i)  Chaura-Chaun - 1869 A.D.
(i) Cabinet Mission - 1920 A.D.
(iv) Birth of Mahatma Gandhi - 1946 AD.

(1x4=4)
frefafad «1 98 fgam FIfTT .

iy TooTws m<em - 1922 %

i) <r-= - 1869 %

(i) B fem - 1920 %

(iv) TEwn M = o= - 1946 2.




Roll No. .o Total Pages : 3

GSM(13-14/M-16 1756
COMPUTER SCIENCE
(Operating Systems)
Paper-1V
. B.Sc.: 40
Time : Three Hours] [Maximum Marks :
B.A.: 25

Note : Question No. 1 is compulsory. In addition attempt four
more questions, selecting one question from each unit.
All questions carry equal marks.

Compulsory Question
1. Attempt all the following :
(a) Acyclic-Graph Directory Structure.
(b) Deadlock prevention.
(¢) Swapping.
(d) First fit and Best fit. (4x2=8)

UNIT-1
2. What is an Operating System ? Explain the concept of

timesharing, distributed, network operating system in
detail. 8

1756/1,800/KD/330 [PTO.



3.

Differentiate between the following :

(a) Multiprogramming and Multitasking. 4
(b) Single user and Multi-user operating system. 4
UNIT--II

Consider the following set of processes that arrive at
time 0, with the length of CPU Burst time (or run time)
given in milliseconds :

Process Burst Time Priority
Pl 10 2
P2 5 1
P3 6 4
P4 4 3

Calculate Average Waiting time and Average Turnaround
time for the following :

(i) Priority Scheduling.
{(ii) Round Robin Scheduling.
Consider time quanturn of 5 milliseconds. 8

Define Deadlock. Explain Banker’s algorithm using

example. 8
UNIT-HI

Explain the concept of Paging with suitable example.

Write its advantages and disadvantages. 8

1756/1,800/KD/330 2

(a) What is Segmentation ? Explain the advantages and

disadvantages of segmentation. 4

(b) Explain the concept of Virtual memory with example.
4

UNIT-IV
What is Disk scheduling ? Explain any four disk scheduling
algorithms with suitable example. 8

Explain the following in detail :
(a) Disk structure.
(b) File protection mechanisms.

1756/1,800/KD/330 3



UNIT-II
What are the different data types available in Visual
Basic ? Explain.

Explain different arithmetic and logical operators in Visual
Basic.

UNIT-III
Differentiate between Do-loops and While-wend with
suitable examples.

Write short notes on the following with suitable examples :
(a) Static and Dynamic arrays.
(b) Exit statement.

UNIT-1V
What is Function ? Why we use function in a program ?
Write a program in Visual Basic to calculate the average of
five numbers using function.

What is Form ? Explain different properties of a form.

1757/1,800/KD/331 2

Roll No. .o, Total Pages : 2
GSM(13-14)/M-16 1757
COMPUTER SCIENCE
(Programming in Visual Basic)
Paper-V

. . B.Sc.: 40

Time : Three Hours] [Maximum Marks :
B.A.: 25

Note : Question No. 1 is compulsory. A candidate is required
to answer five question in all, selecting one question
from each unit in addition to compulsory Question No. 1.
All questions will carry equal marks.

Compulsory Question
1. (a) What is an ActiveX control ?
(b) What is the use of MsgBox in Visual Basic ?
(¢) What is Comment statement ?
(d) What is a Hide method ?
(e) Define Control structure.
(f) Define Array.

UNIT-1
2. Explain the concept of Procedure-oriented programming
language and Object-oriented programming language.
What is the category of Visual Basic programming language ?

3. Explain the different icons of toolbar in Visual Basic
environment.

1757/1,800/KD/331 [PTO.
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GSM/(11-15)/M-16 1763

CHEMISTRY
(Inorganic Chemistry)
Paper—XI (CH-204)
Opt. (i)°
Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all, selecting at least two questions

from each section.

SECTION-A
1. (a) Lanthanides have poor tendency to form complexes.
Explain. 12
(b) Calculate the number of unpaired electrons in ground

state in the following ions : Ce**, Dy™, Yb*2. 1%

(¢) Give any three applications of lanthanides. 1%
(d) Which is more basic, and why ?
Gd,0, or YbO. 1

2. (a) How will you separate lanthanides by Solvent extraction
method ? 2

(b) Lanthanide ions do not form oxo cations. Why ? 1%

(¢) Name the important compounds of lanthanides in

+2 oxidation state. 2

1763/4,400/KD/337 [PT.0.



3. (a) The electronic configuration and position of most of

the actinide elements are controversial. Justify. 2

(b) Discuss the Magnetic properties of actinide ions. 2

(c) Explain the reasons why actinides are capable of

forming complexes with n—bonding ligands. 1%

4. (a) In what respects do f-block elements differ from

transition elements ? 2

(b) What are Nuclear fuels ? Give preparation of Plutonium.

2

(c) Why do actinides show higher oxidation states than

lanthanides ? 12

SECTION-B

5. (a) Discuss the theory of 'Borax bead Test'. 2

(b) How will you detect Co™ in presence of Ni*2 ? 2

(¢) Why Group IV radicals are precipitated in basic

medium ? 1%

6. (a) How will you detect the following jons when present

together ?

SO3? and SO;? 2

(b) How will you remove Borate BO3” before proceeding

for HI group of qualitative analysis ? 2

(c) Give chemistry of 'Green edged flame test' for

Borate ion. 1Y2
1763/4,400/KD/337 2

(a)

(b)

(c)

(a)
(b)
(©)

How will you test carbonate CO;* in presence of
sulphite SO3> ? 2
What happens when
(i)  Ferric chloride solution reacts with K,[Fe(CN}}
solution ? .
(i) Ammonium molybdate is added to Sodium
phosphate solution containing conc. HNO, 7?7 2
Why do we add NH,Cl and NH,OH before the
addiction of (NH,),CO; in the detection of V group
1
readicals ? V2

Explain the theory of Precipitation. 2
What do you mean by 'Fractional precipitation' ? 1%2
What are the precautions required during "Washing of

1
Precipitates” 7 1%

1763/4,400/KD/337 3



Roll NO. e, Total Pages : 3

GSM(11-15)/M-16 1764

CHEMISTRY
(Physical Chemistry)
Paper—XII (CH-205)

(Theory)

Time : Three Hours] [Maximum Marks : 26

Note : Attempt five questions in all, selecting at least two questions

from each section.

SECTION-I

1. (a) Show that for an irreversible process

AS + AS = 0. 3

system surrounding

(b) What percent T, is of T, for a heat engine having
efficiency 30% ? 2

2. (a) How Third law of thermodynamics helps in the
determination of absolute entropies of chemical

compounds at any desired temperature ? 2.5

{b) Justify that ;M.H.la = 0 for Carnot cycle. 2.5

1764/4,400/KD/338 [PTO.



3. Derive the following relationships :

(@)

(i)

(b)

5. (a)

(b)

(b)

Gibbs—Helmholtz equation
J(AG)

AG = AH + T| ——=
T |,

where AG and AH have usual meanings.

(AA)p = nRT In L. 5
Va

Establish the criteria of feasibility or spontaneity of a
process in terms of various state functions. 3

What do you understand by the term "Free Energy"

and "Work Function” ? 2
SECTION-II

Give difference between the Electrochemical cell and

Electrolytic cell. 2

Derive Nernst equation for measuring EM.F. of a cell. 3

Can a solution of IM-CuSO, be stored in a vessel
made of Nickel metal ?

Given that mw:z? =0.25 volt

€ =-0.34 volt , 2

M.._ |Cu?
What do you understand by Over voltage or Over
potential ? What is Hydrogen over voltage ? Briefly

explain factors on which it depends. 3

1764/4,400/KD/338 2

7. (a) Describe the principle underlying potentiometric
titrations. 3
(b) Calculate the value of equilibrium constant K for the
cell reaction between Zn and Ag*.

Given : €° in volts for Zn**|Zn = -0.76
Ag*|Ag = 0.80. 2
8. (a) What are Concentration cells ? Give an example of it
(i) with transference, and (ii) without transference. 3
(b} Discuss the use of Quinhydrone electrode in pH
measurement of a solution. 3

1764/4,400/KD/338 3



8. (a) Write (i) Clemensen Reaction, and (ii) Canizzaro

Reaction with example. 2
(b) Which of the two, aldehyde or ketone is more reactive,
and why ? 1
(¢) (i) Explain briefly the structure of Carbonyl group. 1
(i) Prepare ketone using Grignard reagent. %)
(d) Why excess of mineral acid is used for preparation of
diazonium salts ? 1
1765/4,400/KD/329 4
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GSM(11-15/M-16 1765
CHEMISTRY
[Organic Chemistry (Theory)]
Paper-XIII (CH-206)

Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all, selecting at least two questions
from each unit. All questions carry equal marks.

UNIT-1
1. (a) Explain the type of vibrations present in triatomic and
higher molecules. L%

(b) Calculate the wave number for the stretching vibration
of '2C — 'H single bond.

Given k = 6.2 x 10° dyne cm™. 1%
(¢) How many vibrational modes are there in Ammonia

molecule ? Calculate. ]

(d) How does hydrogen bonding influence the IR spectrum

of some organic compounds ? 14

1765/4,400/KD/329 [PTO.



2. (a)

A 4-carbon straight chain hydrocarban having
14.3% H exhibits the following absorption bands :
(i) 3015 cm! (m)

(i) 960 cm™ (s)

(i) 1680 cm™ (m).

What is the probable structure of the compound ? 1

(b) Compare the relative stretching frequencies for
carbon-halogen bonds in CH,—F, CH,—-Cl, CH,-Br and
CH,-1. 1
{c) How will you distinguish between cis- and trans-
cinnamic acid on the basis of IR spectroscopy ? 1%
(d) Write a note on position and intensity of IR absorption
bands. 114
3. (a) Write the reaction and mechanism of the following :
(i) Hoffmann Bromamide Reaction. 14
(i) Ammonolysis Reaction. 1
(b} Write the reaction of nitrous acid with three classes of
amines. 1%2
(¢) Explain the order of basicity of three classes of
amines. 1%
4. (a) Which of the two is more basic aromatic amine or
aliphatic amine, and why ? 1
{b) Compare the basic strength of meta-chloroaniline,
para-chloroaniline and aniline with reason. 1
{c) (1 What is Schiff’s base ? Prepare it using 1° amine.
(i) Write Curtius Reaction. 2

(d) Write reactions for the conversion :
Aniline — Paranitroaniline 1%

1765/4,400/KD/329 2

(b)

(c)

6. (a)

(b)

(©)

7. (a)

(b)

(©)

UNIT-II
(i) Write the reaction and mechanism of Diazotisation.
1v2
(i) Explain Sandemeyer Reaction. 1

Prepare (i) Benzene (ii) Nitrobenzene from Benzene
diazonium salt. 2
Write the mechanism of Nucleophilic addition to
aldehyde/ketone. 1

Write the different steps for the following conversions :
(i) Aniline — p-dinitrobenzene.

(ii) p-toluidene — p-toluic acid. 2
Give the following reactions :

(i) Rosenmund’s Reaction.

(ii) Etards Reaction.

(iii) Friedel-Craft’s alkylation/acylation. 3
What is Corey’s reagent ? What is its advantage ? Y2

Complete the following reaction and write the name
of products :
(i) RCOOH + HCOOH —

(i) @.’Omw CrO;, (CH;C0),0 5

Write the reaction and mechanisms of the following :
(i) Aldol Condensation.

(it) Mannich Reaction. 3
Reaction of Aldehyde/Ketone to ammonia derivative. Y2

1765/4,400/KD/329 3 [PTO.
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1768
GSM(11-15)/M-16
PUNIJABI (COMPULSORY)
Paper — 11
Time : Three Hours] (Maximum Marks : 40
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Unit IV

Roll No. i Total Pages : 04
Find the mean and variance of a Poisson distribution. 8
Fit a Binomial distribution of the following data : 8 BSIT/M-16 12135
< - 0 1 2 3 4 MATHEMATICAL FOUNDATION OF
e de 10 4 INFORMATION TECHNOLOGY-IV

BSIT-401
Unit V (Compulsory) :
Time ; Three Hours] [Maximum Marks : 40

(a) The Mean and SD of a binomial distribution are 2 . . . . .
Note © Attempt Five questions in all, selecting at least one

and 1. Find n, p and ¢. 2 . .
() Define Simple graph and Planar graph. ) guestion from each Unit. Q. No. 9 is compulsory.
(¢) Define Probability. 2 Unit 1
(d) Define Kurtosis. 2
1. (a) Calculate the median from the data . 4
Marks No. of Students
0-5 6
5-10 12
10--15 17
15 20 30
20 25 10
25-30 10
3(3-35 8
35-40 5
40-45 2

2135 4 350 (2-07)1.-12135 P.T.O,



£
2. (a)
(b)
i, {a)
(b)
[.-12135

Caiculate Pearson’s Coefficient of Skewness from
the data 4
Marks above - 0 10 20 30 40 50 60 70 &0
No. of Students : 150 140 100 80 80 70 30 14 0

Find the first four moments about the mean of the
series 1, 3,7, 9, 10. 4
Given the frequency distribution : 4
X 2 3 4 5 6

oot 3 7 3 1

Show that the distribution i1s symmetric and platy-
kurtic. .

Unit 11

Find the minimal spanning tree of the given
connected weighted graph G of 4 vertices. 4

s 4

el

(2

()

Prove that a tree with »n vertices has n—1 edges. 4

4. r:72 the simple graph whose incidence matrix is @ 8

(b)

6. (a)

(2-07)1.-12135 3

o1 1 0 0

1100 0 0
00 0 0 01
00 1 01 1

Unit I11

Prove that the geometric mean G of the distribution,
df(x)=6(2-x){x-1)de.1<x<2 is given by
6log(16G)=19 . 4
Let X be a continuous random variable with

probability density function .\_Ainwxwﬁ_raww.

O<xy<1. Find the value of & and its mean and

variance. 4

Find the mean. variance and the coefficients Bi. B,
of the distribution dp =kx’e ™ dr=1.0<y<x. 4
A continuous random variable x has probability
density function /(x)=6x{1-x).0<v <], 4
(1t Check that f(x} is pdf and

(1) Find b such that P(X < ) — P(X > &),

P.T.0.
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BSIT/M-16 12136
ELECTRONIC CIRCUITS AND
APPLICATIONS
BSIT-402
Timz Trrze Hours] [Maximum Marks : 41

Note - There are nine questions in this paper. All questions
carry equal marks. Atlempt five questions in all. Q.
No. 1 is compulsors. Allempt remaining jour questions

by selecting only one question from gach Unit.

1. (a) Define input offset voltage and input offset current.
2
(by  Write the advantages of negative feedback. 2

(¢ Why do we need three R € networks for a phase

shift osciliator ? 2

(d)  Write the uses of Triac and Diac. 2
Unit |

3 (4; Draw the schematic diagram to use an Op amp as

summing amplifier and derive the eapression lor

the output voltage. 4

(3-08)1.-12136 P.1.0.



{t)  Draw and expiaim Im-imz i soigrator. Also
write the disadvantages o7 2z 23 =2z mator circuit.
4
3. {(a)  Explain operation of Op-amp as differer.ce amplifier.
4
(b) Draw the circuit diagram of Op-amp as Schmitt
Trigger and explain its working, 4

Unit 1I
4. (a) Draw and explain a practical circuit for voltage
series feedback topology. 4
(b)  Explain the effect of negative feedback on output
resistance on an amplifier. 4
3. (a) Write the names of the four feedback topologies.
Find the expression of transfer function of voltage
series feedback topology. 4
(b)  Explain the effect of negative feedback on imput
resistance of an amplifier. 4

Unit II1

6. Draw the circuit diagram of phase shift oscillator and
discuss its operation. Also find the expression for
frequency of oscillations and the condition for sustzined
osciliations. 8

[.-12136 2

(3-08) L-12136 3

Draw the circu 2izzmz 27 Colpiuts oscitlator and explain

its working A <~ -2 the expression for the frequency of

oscillations 8

(b)

Unit IV

=xplain the construction and working of Silicon

1

controlled rectifier.
Design astable multivibrator using IC 535 and

explam its operation. 4

Draw the circuit diagram ot a triangular waveform
generator and and explain its working. Also find
the frequency of waveform. 4
Draw the circuit diagram of a monostable
multivibrator. Also explain its operatton and find

the expression for output pulse width. 4

'
rh
=



(b)

(b)

(b)

L-12137

Unit 11

How 1s radar in an airplane used 10 measure its
altitude 7 4
Discuss point contact diode in detail using suitable
diagram, 4

Explain, how a Magnetron tube can be used as an
Oscillator ? 4
Discuss the various patterns of electric and magnetic
ficld which are setup, when a Microwave signal 1s

launched into a wave guide. 4
Unit I1I

Explain, how light travels in a Cable ? 4

Discuss construction of Fiber-optic. 4

How 1s Analog signal transmitted over a fiber-optic
cable ? 4
Explain the various ficlds in which fiber-optic

communication can be used. 4
Unit 1V
Discuss Graded index fiber-optic cable, 4

Design an ILD transmitter and explain its operation.
4

Discuss Attenuation in fiber-optic cable in detail.
4

Discuss Multiplexing on fiber-optic cable. 4

Roll No. ..., Total Pages : 02

BSIT/M-16 12137
TELECOMMUNICATION-1I

BSIT-403

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. selecting at least one

question from each Unit. Q. No. 1 is compulsory.

I. (a) What do you mean by Posigrade orbit and
Retrograde orbit ?
(b)  Explain, how a wave gutde works.
{(¢)  Define and explain Critical angle.
(d)  What do you mean by mode in fiber-optic cable ?
2x4=8

Unit [

2. (a) Why are UHF and higher frequencies preferred in
Satellite Communication ? 3

(h)  Write a short note on Satellitc Positioning. 5

3. Draw Block Diagram of a Communication satellite and

explain its working. . 8

{3-05)1.-12137 P.T.O.
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BSIT/M-16 12138

MICROPROCESSOR ARCHITECTURE AND

PROGRAMMING-II
BSIT-404

Time : Three Hours) [Maximum Marks : 40

Note

Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt one-question from each Unit. All questions
carry equal marks.

1. Attempt all questions

(a)

{b)

(c})

Obtain the control word when the ports of 8255 arc
to be used in Mode-0 with Port-A as Input port
and Port-B as Output port and Port C, .,
Port wheress Port C,,, as Output Port. 2
If the Stack Segment register contains 3000H and
Stack Pointer contains 8434H, what is the Physical

as Input

Top address of Stack ? 2
Explain the following Control Signal .
HRQ and HLDA. 2

Obtain the Control word in BSR mode to set PC,
bit, ' 1
How many address lines does 8086 have and how
many memory address does this address lines allow

8086 to access directly ? !

(3-08)1.-12138 P.T.O.



(b)

b

{a)

Unit |

Draw and explain Block Diagran: o7 &0 3% i detail

5
Explain BSR mode in detail. 3
Explain the Interfacing of 8-Bit ADC with 8085.
6
Discuss mode-0 of 8255 in detail. 2

Unit I1

4. Explain the following modes of operations of 8254 with

their timing diagram

(a)
(b)

n

(a)

6. Draw

detail.

1.-12138

4x2=§
Mode-0
Mode-2

Draw Block diagram of 8254 and explain the
functioning of its blocks in detail. 5

Draw Block diagram of 8237 DMA Controller. 3
Unit 111

and explamn the Intemnal Architecture of 8086 in

8

=l

(&)

(b)

Denine Flag Register. Explain. how many flages are
there m 8086 7 Discuss the format of flag register
in 8086, 4
Describe the function of 8086 queue. How does the
queue speed up the processing 7 2
Describe the difference between instruction MOV

AX,2437 and MOV AX. [2437H]. 2
Unit IV

Explain all the Conditional and Unconditional Jumps
in 8086 with examples. 5
Differentiate between While Do and Repeat Until

with examples. 3

Explain the purpose of Ends Directive and Assume
Directive 1n 8086. 3
Explain Program development tools of assembly

language programming in 8086. 5

(3-08) L-12138 3 350
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BSIT/M-16 12139
OPERATING SYSTEM-II
BSIT-405

‘Regular @ 40

Time : Three Hours] [Maximum Marks : Reappear: 45

Note : Attempt Five questions in ali, selecting one question
from each Section. Q. No. 1 1s compulsory. All questions

carrv equal marks.

1. Compulsory Question
ta)  Explamn Hardware Support for fragmentation.
(b)  Explain Random Page Replacement Strategy.
{¢)  What are the various file attnibutes ?

(d) Wrnte goals of Protection ?

Section A

2. (a) LExplain Segmented paging with suitable example.
(b)  What 1s Page Fault ? Explain various methods to

deal with 1L

(3-05)1.-12139 P.T.O.



3. Write notes on the following : 9. {(a
(a)  Swapping
{by Overlays. (b}

Differentiate between Integrity for data Security and
Authentication.
What are system threats 7 Explain with suitable

example.

Section B
4. (a) Explain the concept of Virtual Memory.
(b) What is thrashing and its causes ”
5. (a) What is demand paging 7 Explain it.
(b)  Explain First in First out (FIFO) and least recently
used (LRU) page replacement strategy.
Section C
6. (a) Whatis file control block ? Also write access control
matrix.
(b} What are the different types of File ?
7. (a) Explain various file allocation methods.
(b} What 1s a cyclic directory structure ?

Section D

8. Explain the concept of cryptography and its vanous

metheds for protecting data.

1.-12139
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BSIT/M-16 12140
COMPUTER PROGRAMMING IN C-II
BSIT-406
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Umit. Q. No. 1 is compulsory. All questions

carry equal marks.

1. Compulsory question

(a) Explain automatic storage class, scope and life time
of auto type data.

{(b) Define array of student’s names and their
representatton in C-language.

(c) Write a program segment to transfer an entire one-
dimensional array of integer type data to a function
subprogram.

(d) Explain svntax, purpose and dectaration of fseek
{file-pointer) function. 2x4=8

Unit |

(3%

(a)  What are different ways in which a source file
inclusion directive can be written ?

(by  Explain MACRO expansion 7 4.4

(3-05: 1.-12140 P.T.O.



tad

What 1s a character string hiteral constant 7 How s

it written and stored in memory ?

(my Write a program in C-language to find the largest
word 1n a given string. 4.4
Unit 11
4. Differentiate between : 4.4
{a) Call by value and Call by reference
(b) Local variable and Global variable.
5. (a) What are command line arguiments ? What is their
significance 7
(by Write a program in C-language to interchange the
integer varibles x and y using call by reference.
4.4
Unit I1I
6. Wrte notes on the following : 233
(a) A pointer to void data type
(b) A pointer to pointer
{c) A pointer to a function subprgram.
7. (a) How a structure within a structure 1s defined and
executed in C-language 7
(b}  Difterentiate cnum and tvpes of data tvpes with
example of cach. 4.4
[.-12140 2

{(a)

(b)

Unit IV

Distinguish a fprintf{ } and fwritet ) file handling
output functions.

Write a program in C-languagc to creale a file 1.e.
an emplovee file and add some records m 1t in text

mode ? 4.4

What is an ‘extern’ storage class 7 Explain extern storage

utility. declaration. scope, limitation and jifetime. 8

(3-05)L-12140 3 350
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BHM/M-16 16090

ENGLISH
(Literature in English : 1830-1900)
Paper—VIIl
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions as directed.

PART-A

1. Explain with reference to the context : (3x8=24)

{a} Ah, love, let us be true
To one another ! for the world, which seems
To live before us like a land of dreams,
So various, so beautiful, so new,
Hath really neither joy, nor love, nor light,
No certitude, nor peace, nor help for pain;
OR
How dull it is to pause, to make an end,
To rust unburnish'd, not to shine in use !

As tho' to breathe were life,

(b) Oh Sir, she smiled, no doubt,
Whene'er I passed her; but who passed without
Much the same smile ? This grew, | gave commands;
Then all smiles stopped together.
OR

16090/450/KD/752 [P.T.O.



He fixed thee 'mid this dance

Of plastic circumstance, 5,

This present, thou, forsooth, wouldst pain arrest :

Machinery just meant

To give thy soul its bent,

Try thee and turn thee forth, sufficiently impressed.
(c) And thou, who didst the stars and sunbeams know,

Self-school'd, self-scann'd, self-honour'd, self-secure,

Didst walk on Earh unguess'd at. Better so !

OR

Why are we weigh'd upon with heaviness,

And utterly consumed with sharp distress,

While all things else have rest from weariness ?

All things have rest ; why should we toil alone,

We only toil, who are the first of things,

And make perpetual moan,

Still from one sorrow to another thrown.

PART-B

Note : Attempt any two of the given three questions : (2x16=32)

2. “Amold is an unsurpassed master of the elegiac note in poetry.”
Discuss.

3. How far it is justified to describe Tennyson as the
representative poet of the Victorian era ?

4. “Browning is an incorrigible optimist.” Discuss with reference
to his poems prescribed for your study.

PART-C
What are the main trends and features of the Victorian poetry ?
OR

Never have two products of the same age been so widely
diverse as Browning and Tennyson. Comment. 12

Describe the aims and achievements of the Pre-Raphaelite
movement.

OR

Write a note on pessimism in Victorian Poetry. 12

16090/450/KD/752 2 16090/450/KD/752 3



4.

Write notes in about 300 words each on any two of the
following authors prescribed for non-detailed study :

(a) Robert Browning.
(b) D.G. Rossetti.

(c) J.S. Mill. (2x8=16)
Write notes in about 150 words each on any rhree of the
following literary works prescribed for non-detailed study :
(a) W.M. Thackeray : Vanity Fair.

(b) Emily Bronte : Wuthering Heights.

(¢} Oscar Wilde : Mrs. Arbuthnot.

(d) Benry James : The Portrait of A Lady. (3x5=15)

16091/450/KD/753 2

RO NO. e Total Pages : 2
BHM/M-16 16091
ENGLISH
(Literature in English : 1830-1900)
Paper-IX

Time : Three Hours)

[Maximum Marks : 80

Note : All questions are compulsory.

1.

Write short notes in about 200 words each on any three of
the following :

(a) Character-sketch of Donald Farfrae in The Mayor of
Casterbridge.

(b} The title of The Mayor of Casterbridge.
(¢} Character-sketch of Charles Damay in A Tale of Two
Cities.

(d) What role does Dr. Manette play in A Tale of Two Cities ?

(3x7=21)
Write a critical note on the plot-construction of A Tale of Two
Cities.

OR

Discuss Dickens's attitude towards the French Revolution with
special reference to A Tale of Two Cities. (I1x14=14)
Discuss The Mayor of Casterbridge as a novel.

OR

What is the central theme of The Mayor of Casterbridge and

how is it developed ? (1x14=14)

16091/450/KD/753 [P.T.O.



The arrows of poisonous words, uttered by others against him.
has not irritating effect on him.

The poised attitude to life injects in man ‘the power of
tolerance’. Tolerance is the only virtue which makes man "the
conquer’ of all the odd circumstances. Blooming with menta;
peace and pleasant voice, he appears majestic in his behaviour
In the whirlpool of materialistic world, he resists the lure o}
worldly greed. He lives like a gallant, unyielding to the war-
mongers. He becomes an ardous explorer of the possibilitics
of a peaceful life on the planet earth. To establish peace, man
ought to fight against the wicked to save the motherland fror.,
the tyranny of the irreligious rulers.

In the modern world, the lover of peace keeps silence. Hiz
silence is not his weaknesses. The war-mongers should know
that assertion for peace by the lovers of humanity is the greatest
virtue of peace-lovers. Peace-lovers have the power to crush
the thorns, and provide the congenial atmosphere to tiw
innocent flowers to bloom. A peaceful mind, with heart full
of love, makes the world liveable. Let us spread ‘the fragranze
of tolerance and peace’ to make the earth a divine place to
live. 8

16092/450/KD/754 6

Roll No. ..o vereeens Total Pages : 6
BHM/M-16 16092
ENGLISH
(Grammar and Contemporary English Usage)
] Paper-X

Time : Three Hours]

[Maximum Marks : 80

Note : All questions are compulsory.

1.

Use any nine of the following phrasal verbs into sentences of
your own :

(a) Bring out.

(b Do without.
(c) Come up with.
(d) Keep in.

(e) Leton.

(f) Make up for.
(g) Bring forth.
(h) Do with.

(i) Keepon.

(i3 Let into.

(k) Come by. . 9

Fill in the blanks with suitable modals. Do any nine.

;) I ..... you speak any foreign language ?
(b) As soon as I walked into the room, I .......... smell gas.
() It........ be true.

16092/450/KD/754 (P.T.O.






T Affa® 1 9 FI N o7
{) 1940 #
(i) 1938 ®
(i) 1935 ®
(iv) 1930 HI

16117/150/KD/852 6

RO NO. wevvririririineene Total Pages : 6
BHM/M-16 16117
WESTERN POLITICAL THOUGHT-II
Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each from
Unit-I to Unit-IV. Q. No. 9 (Unit-V) 18 compulsory. All
questions carry equal marks.

e mﬂmgﬂwﬂ_%zm_ﬂﬂom&dﬂ&%mﬂ%e
e TEE @ TR WA F 999 dwQ W HE 9
Qﬂ@f%&w.ﬂ&i%ﬁﬁawﬂ

UNIT-I (F&E-1)

1. Discuss Hegal's Idealism. 16
B ATER # s Rl

2. Critically examine Marx's theory of Historical materialism.
16

UNIT-II ( 3&TE-11)

3. Examine Lenin's views on Imperialism. 16

ﬁﬁﬂ%%ﬁm»%%@ﬁﬁﬁ&%%_

16117/150/KD/852 [P.T.O.



4. Discuss the main ideas of Mao-Tse-Tung. 16

TH-W-F1 F @A fEn @ vl 5
UNIT-II ( 3%13-111 )

5. Critically examine G.D.H. Cole’s theory of Pluralism. 16
%.%.ﬁ.ﬂﬂ%mmﬂﬁ&?ﬁﬂﬂﬁ%ﬁﬂﬂﬂ%
EE

6. Examine Laski's views on State, 16
T F T T fEn W favemn i)

UNIT-1V (FFRE-1V )
7. Describe John Rawl's Theory of Distribution Justice. 16
S T * faamee e % fagr mr avis Fifu
8. Discuss critically the idea of Libertanism of Robert Nozick.
16
T AMF F =01 @R F R s
e Hifeg
UNIT-V (3@E-V)
Compulsory Question ( 31frard wy7)
9.  Objective question. 2x8=16
TS w9
16117/150/KD/852 2

(a) Hegal was born in

(b)

©)

(1) India

(ii) Russia

(iii) Germany

(iv) England.

BRI WS g Al

(i) w@ H

Gi) =9 ¥

(ili) R §

(iv) gofe ®)

Who wrote “Das Capital™ ?
{1) Lenin

(il) Marx

(iii) Mao

(iv) Hegal.

‘T Hfqed’ w1 AEF B 2
(i) e

(i) Wi

(iif) =raa

(iv) g

Who led the Russian Revolution ?
(1) Marx

(i) Stalin

(iii)) Mao

(iv) Lenin.

16117/150/KD/852 3
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= F Ffg e TTa
. feaa o o T Wz wTote the book “Grammar of Politics™ ?

' HTER
iy fEE T Marx
(iii) oraq b Mao
(iv) S 1) Cole
‘d) When did Great 1. (1v) Laski.
ea
China? p Forward Movement begin in * Grammar of Politics” TH% [« frea fadr =7
M: In 1955 (i) et §
1) In 1956
i 3
(i) in 1957 m n@ .
(iv) In 1958, (i) HEA F
%@wm TR w% vy TR A
. n,.\nd ﬂ .M/Hﬁ mg Mﬁ_.v 6% : LR
(1) 1955 % g+ Who wrote the book “A Theory of Justice
(i) 1956 o . Nozik
(iif) 1957 o 14 Cole
. i Rawls
(iv) 1958 % e
() Who advocated C e Mao,
Ocated “ Ommune” system Q - L. , ;
() Nozick : T =T A AW’ A qmw feed ferdt eft;
(i) Marx 1 ThEF A
(iii) Cole G FTE T
*:.5 Rawls, Gips e
. P AU (v JTE F
) s
v th»  When did Robert Nozick born ?
(i) ard i In 1940
(iii) i a1y In 1938
(iv) Tem iii) In 1935
tivy In 1930.

1611
7/150/KD/852 4
16117 150 KD/852 5 [P.T.O.
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BHM/M-16 16118

POLITICAL SCIENCE
(Indian Political Thinkers-II)
Paper-II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal marks.

d2 . 5=l ufa W w I Gf9u 9ot wee % ofF mHE

6.

2l
L)

Discuss the important ideas of J.P. Narayan. 16

I AEN F HewEw foer #1 avM Wi

Examine the contribution of Dr. Ram Manohar Lohia to
Political Thought. 16
T T TR wifewm F 9RaE getres faam w1 arEe
F o= 1

What is meant by ‘Satyagraha' ? Discuss Gandhiji’s views
about it. 16

qomE | 7 gl 27 TO® 9R 4 miet % famm @
TR )

Describe the political views of M.N. Roy. 16
THT. @ F UoHliaes &0 &1 90T Hi
Discuss Nehru's views about Democratic Socialism. 16

AFAH TIEE H IR F AEE o % IR W IwE
F ‘

Highlight the Dr. B.R. Ambedkar's contribution to Indian
Political Thought. 16

16118/150/KD/853 [P.T.O.



T AR T % 9RAE aefeE faem # amem "Wheel of History' feralt 8

R R TH (1) Jew
7. What do you know about ‘Azad Hind Fauj’ ? Discuss. 16 () =fem 3
A T WM B AR oW w9 87 e wy .
o . (|) M A
8. Examine the role of Bhagat Singh in Indian Freedom
Movement. 16 () = 9 fF 3 =)
A A e § o fie #1 ofew w1 oA (iii) Who was the Political Mentor of Gandhiji ?

F
(a) Naoroji
9. Objective type questions.

(b) Gokhale
FHS TEH|
¢y Tilak
(i) J.P. Narayan is also known as ©
(a) Baba (d) None of these.
(b) ILokmanya et St % aeifaE T 9
(c) Loknayak ( ﬁvuﬁaﬂw
(d) Deshbandhu.
AW AET F Y o= ™ ¥ AR S 87 (%) e
(37) Fmn () Toer
(%) A (%) ¥ ¥ FE T
I RSIERICED (iv) Which city was the main centre of M.N. Ray's Political
mﬂv Nﬂﬂﬂmﬂﬁ_ Activities ?
(i1) ‘Wheel of History’ is writen by (a) Paris
(a) Nehru (b) Mexico City
(b} Lohia {c} Berlin
(¢) Gandhi (d) London.
{d) None of these.
16118/150/KD/853 3 [P.T.O.
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T T Y Y YRt W a9 TetaE irEfiaa T WfEaE # oaEe wfaft e 9

F BT T A0 (37) T A= FER
(o) (F) AW TEE
(B) MMM rEEFT
(%) Ay 73 .. :
(%) ¥79 ¥ =i |
() afef (vii) *Swarajya’ Party was founded by :
(7) e (a) Tilak
. (b) Gokhale
(v} The concept of ‘Panchseel’ is associated with : .
(c} Ra
(a) Gandhi (d} S.C. Bose.
(b) Nehru : ‘=T T F e A o
(c) Tilak (37) foer A
(d) Ambedkar. () MEe A
‘deefte’ # sTaumOn wrEfem R (%) T A
() T (%) TEH. T9 FI
. (viii) To which jail Bhagat Singh was sent ?
(9) 48% ¥ (a) Lahore Jail
(q) foos § (b) Peshawar Jail
. (¢) Meeyanwali Jail
() sagH 4 (d) Kot Lakhpat, (8x2=16)
(vi) Who was the Chairman of Drafting Committee of Indian o foz &1 &9 9= 9 99 T o7
Constitution ? .
(37) AER A
a) Dr. Rajendra Prasad 5
(a) Dr. Rajendra Prasa (7) TR S
by JIN.N .
(b) ehru (®) fraEet w&
(c) B.R. Ambedkar () F2 @

{d) None of these.
16118/150/KD/853 4 16118/150/KD/853 5




I T W B AR H R T

(i) vnfagei wE-eifcam &1 9T
(i) wmfa &= T TwgAr

(iii) IUFETER #1 7

(iv) S9Ed g

16119/150/KD/854 6
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BHM/M-16 16119

POLITICAL SCIENCE
(Indian Foreign Policy-1I)
Paper-I11

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
Unit-I to Unit-IV. Question No. 9 (Unit-V) is compulsory.
A< ;. T uE T F IW A TFE-1 9 FE-IV TF
TAF THE W TH W H 999 Ffw€l T G 9

(zFE-V) a2
UNIT-1 (3&1E-1)
1.  What is Indo-US Nuclear agreement ? How it has affected
Indo-US-relations ? 16

TR STARET O] TR N 87 T G- 3R T
= g R wwfaa fwan?

2. Critically examine Indo-Russia Economic relations. 16

TG-59 oNfdE gl &1 eeEneTs faEeT S
UNIT-II ( gehm3-11 )

3.  Whatis India's role in Non-Alignment Movement in Post OOE
war period ?

mﬂﬂﬂﬂnﬁﬂﬂmﬁﬂﬂngﬂﬁﬁﬂﬁ
@ww

4. Describe India's bilateral relations with South Asian countries.

16

zfqor TR 39N & WY 9N & fusiE wEel @ avi
Fi

16119/150/KD/854 [P.T.O.



o

UNIT-IH ( 3%E-1I1 )

What are the factors that may enable India in getting permanent
membership in Security Council ? 16

ﬂﬁﬂﬁmﬁﬁﬂﬁaﬁﬂamﬂ»m%lﬁﬂ;
FRF TEEF B gey &)

6.  What is the contribution of India in process of disarmament ?
16
W"ﬂﬁmﬁsﬂﬂ@ﬂméﬁﬁﬁ%ﬂmww
UNIT-IV (gFE-1V )

7. What is change of India's Foreign policy towards his
neighbourhood in Post Cold war period ? 16
%-mﬂﬂﬁmmﬂﬁﬁwmﬂ&ﬂmﬁﬁﬂ,%
F W0 w wRers s

8. What are the economic challenges for India's Foreign policy ?

16
ﬁﬂﬂ@w&%%ﬁi%-%u%ﬁ@ﬂ%%

9.  Objective type questions. (8x2=16)
RS YT
(a) How many members are in Nuclear Suppliers Groups ?

(iy 40

(i) 42

(iii) 44

(iv) 46.
16119/150/KDD/854 2

WHT Y wgE A R T
() 40
(i) 42
(iii) 44
(iv) 46.

(b) When India made nuclear explosion for nuclear

weapons ?

(i) In 1998
(ii) In 1999
(iii} In 2000
(iv) In 2001.

ﬁﬂm»ﬂﬁaw@mﬂ%%@mggﬂ

far ey

(i) 1998 H

(i) 1999 o

(iii) 2000 o

(iv) 2001 Wi

(c) When SAFTA was constituted ?

(i) In 1992

(i) In 1993

(iii} In 1994

(iv) In 1995.

W H TS FE EI e
i) 1992 H

(i) 1993 ®

(iii) 1994 H

(iv) 1995 ¥

16119/150/KD/854 3
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(d) Which of the following is the feature of Non-Alignment

(e)

(f)

Movement ?

(i) Opposition to Cold war

(ii) Opposition to military alliances

(iii) Opposition to Power politics

(iv) All the above.

T ¥ BR-@ -y aRew w5 faewa 2
(i) wa-gz + faw

(i) HFrF TS F faRy

(iif) v =t TsAIfa 1 fa

(iv) S9F T

India signed on UN charter in which year

(i) In 1945

(1) In 1946

(iif) In 1947

(iv) In 1948.

WA A TIHR TG G H AR W EEER w9 R 92
(i) 1945 H

(i) 1946 H

(iii) 1947 ®

(iv) 1948 HI

Convention of Non-Alignment of 1983 was held in which
city of India ?

(i) In New Delhi

(ii} In Mumbai

(iii) In Chennai

(iv) In Kolkata,

16119/150/KDD/854 4

(2

(h)

16119/150/KD/854 5

zmmmﬁ-jﬂm%ﬁ%ﬂﬁﬁaﬂﬁ
et A gIn e’

q & feeeh o

(i) =% ¥

(i) == o

{(iv) FIAFE G

How many members participated in First Non-Alignment
Movement Convention at Belgrade.

(i) 20

(i) 25

(iii) 30

(iv) 35.
@ﬂmmmﬂﬁ-ﬂﬁm%%ﬁﬂﬁmﬁm
frm wew 4 W feRn oy

iy 20

(i) 25

(i) 30

(iv) 35.

The basis of U.N. Charter is.

(i) Peaceful co-existence

(ii) To establish peaceful zone

(iii) End of Colonisation

(iv) All the above.

[P.T.O.



Discuss the ssgnificance and importance of Budae e

T F W T T

Explain the methods of Judicial C
inindin 00 1A

CHE 4 WEE T TIw TTeT ¥ TEE T R AR

Dhscuss the impal

o Keth D 7,

cdy Terry

“Igm E W W SR ® WE A W w e

£) L Wl E
_ —_—t
= >t S T
Tl I

6100, 1 00K 1T 7 2
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- BHQAM-16 - 16194
PUBLIC ADMINISTRATION-1I
mmvﬁrm:

Tirme : Three Hours} ’ {Maximum Marks : 80

Note o Attempt any five questions, All gquestions carry equal

3.
B

e . FE o w ot omef owed & siE wam

l. Define M.ww:.mm:ﬁﬁmw. LHscuss main characteristics of
Bureawracy. : 16
¥ s Fifa

2. Wrie adetailed note o0 Administrative Accountability. 16

3, What do you mean by Recruitment? Discuss the types of
Recieilment. g 16

a w, wem s ofawm i ol 8w owm o=

- various wethnds of Training, 16

e ¥ S fafel = e e

3. Defiae Budeer Discuss the major principles of Budget, 16

Tz % qm fggal & oaee

THE T TITE




{vi) The provision of 'Administrative Law’ is adopted in
following country

B (a) India

106G (by US.A.

SERELE {c) England

AR LT (d) France B

D W W gdAweR whm BRE oad ¥ Bem o TR FE A A i e w5 g
- _ _ (97) wna b

F, 1853 ) (%) smifem )

(T IGAND , o . (W) greive A

_,..u.W. ey ‘ () W

{vil) "There is no better test of excellence of a government

AR e , .
(71 1970 than its judictal system," who suid?

vvr o When and where the word ‘Budget’ was used firstly” (a) L.D. White
tar 1B33 in Englund (b) Finer
by 1833, France fct Lord Bryce
(d) Gamner

T 1950, in India . L.
: et e w7 dew owER % e IoRd W

vl IR LiS.A, . NN
PRl s wa § wgE = wE e9A T 30, 9w

T IR TR W TR M w9 AW TR A g - EEcolkF
Sy TR (3) L.D. =TI
N (]) =13y
e I e = . | (%) =2 g

. (%) T

CE1BATTONKTY 16T 4 o . 16194/300KD 1674 5



- {viil) Which fype of idevlogy is prevails in present werld?

{a)  Nazism
(b .mﬁ.s.mi

tc) - Liberalization & Cobalization

{(d) Al of the above {2x8=16)

T WA WA e w3
A AR

‘F TEED Ay dvstET
T TR G

WL00RD 1674 - 6

(i)

(iit)

Who wrote the book "The Theory of Socia! and Economic
Organization'?

{a) F.M. Marx

(b) Max Weher

{c) TLaski

{d) Noge of the above

qEleE wen sl wrew w fae JEE e
fowits

() F.M. Trsy

(W) 37 )

(R) emet

(3) SH=a wE )

"Recruitment is the process of attracting qualified
applicants,” who said?

{a} D.E. Kiinger

(b} Waldo

©) L.D. Whits

(d) M.P. Sharma

Yot A ey e w areite F w1 yhE
¥ wE e wm

(DL wfemy

(9) Tl

(9) TeLEl. =mEe

(%) o, iy

16195/100/KD/ 1674 3
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BAE /A-16
COMPUTER AWARENESS
Paper-Level-1

Basic Computer Education

Thne allowed : 2 howurs] [Maxipmen marks @ F 00

Naote : Artempt any five questions.
Fe . wE g T Ff
1. Make ablock diagram of computer and explain essential parts.
20
ey F A (9 G Al A9 WPN & s £ian 20

2. Writeanoteon:
(a) Non-ImpactPrinters (b}  Any4InputDevices. 20
st ae us feplt o
() I e e (@) = 4 e gheah 20
3. Define operating system and functions of operating system. 20

TS OET 99T GEIeE OO B EEr w wewnEag @fee: 20

4. Explaip Using Windows :

(a) Taskbar {(b) icons

(c} Folders (d)  Deskwp. 24

fvd @ @ i FU FEAE

() erER (m) EEH

(M e (m) 2endiT 20
5. Explain with help of control-panel .

(a) Setting Time {(b)  Change Screen Saver

{c) Change Wallpaper (d)  Printer Sctup. 20

—J\w _ B

Iy myyver




(2)
FaET gzt &1 g @ geened

(%) #feT e=A (@) T "9 qiEd

() ety it (@) Blet feem 20
6. Explain using MS-Word :

(a) Useoffonts (b)  Useof Spell-Checker

(c) Clip-art (d) Textalignment 20

UA UE g% % SUEM %G BU HEEhEY _

(%) ot @ IgEH (@) W& I & W

(m) femg e (1) e ORI 20
7. (a) Explain Mail-Merge using Word.

(b) Discuss use of tables in word. 20

(®) @€ F T 7T L HA-TS B A BT

(@) o€ # anPEl & SwEm @ BEE #ik | 20
8. Explain Internet and its applications in Education. 20

geAe qu1 fEn § gEe oTEn &l HHEnsy | 20

9. (a) ExplainanytwoBrowsers.
(b) Discuss how to send e-mail to multiple uses. 20
(®) = a1 aeed 1 @ #ig |
(@) az7 & Twireatelt B RhE wER @ 29 S9 o e g, o

FAT | 20
19, Writenote on:
(a) Macros in word {b)  Storage Devices. 20
frst qr fewPri Ffge -
(m) 7€ 7 # (@) wvere g 20

_qc u_.ﬁ.m:ml



